ITY 0L wh-C i1 TAFLET-C

ME&:HSSE ZFREUE:C

Tap material Surface treatment

7Ly hOBEBRSOEMERUE

~ n
IT'TF'C DJa BERLEY :?Z
EE% Illa 5 102
" =y 1C | 1w 2 8
B EI].I (um) 64
3C 3 :;
P 4L
_—— B3
FO  EvF 2R BUBE| BN | BE | IR | 2R | @R Y EvF 2R BUBE| BY | BE | IR | 2R | @R lj’E
M1 x0.25x 50 1CO 1C 0 5 50 3 M1 x0.2 x 50 3C6 3C 6 5 50 3 ‘9‘/3
M1 x0.25x 50 1C1 1C 1 5 50 3 M1 x0.2 x 50 3C7 3C 7 5 50 3 7%
M1 x0.25x 50 1C2 1C 2 5 50 3 M1 x0.2 x 50 3C8 3C 8 5 50 3 ~ 0
M1 x0.25x 50 1C3 1C 3 5 50 3 M1 x0.2 x 50 PO P 0 5 50 3 4 3
M1 x0.25x 50 1C4 1C 4 5 50 3 M1 x0.2 x 50 P1 P 1 5 50 3 17/ -,>i|
M1 x0.25x 50 1C5 1C 5 5 50 3 M1 x0.2 x 50 P2 P 2 5 50 3 J E
M1 x0.25x 50 1C6 1C 6 5 50 3 M1 x0.2 x 50 P3 P 3 5 50 3 \I:d
M1 x0.25x 50 1C7 1C & 5 50 3 M1 x0.2 x 50 P4 P 4 5 50 3
M1 x0.25x 50 1C8 1C 8 5 50 3 M1 x0.2 x 50 P5 P 5 5 50 3 gg
M1 x0.25x 50 BO B 0 5 50 3 M1 x0.2 x 50 P6 P 6 5 50 3 Fﬂ§
M1 x0.25x 50 B1 B 1 5 50 3 M1 x0.2 x 50 P7 B 7 5 50 3 .
M1 x0.25x 50 B2 B 2 5 50 3 M1 x0.2 x 50 P8 P 8 5 50 3 EE
M1 x0.25x 50 B3 B 3 5 50 3 M1.1x0.256x 50 1CO 1C 0 5 50 3 T:E%
M1 x0.25x 50 B4 B 4 5 50 3 M1.1x0.25x 50 1C1 1C 1 5 50 3 §§
M1 x0.25x 50 BS5 B 5 5 50 3 M1.1x0.25x 50 1C2 1C 2 5 50 3 iﬁ
M1 x0.25x 50 B6 B 6 5 50 3 M1.1x0.25x 50 1C3 1C 3 5 50 3 %
M1 x0.25x 50 B7 B 7 5 50 3 M1.1x0.25x 50 1C4 1C 4 5 50 3 E_t_i
M1 x0.25x 50 B8 B 8 5 50 3 M1.1x0.25x 50 1C5 1C 5 5 50 3 =
M1 x0.25x 50 3CO0 3C 0 5 50 3 M1.1x0.256x 50 1C6 1C 6 5 50 3 S
M1 x0.25x 50 3C1 3C 1 5 50 3 M1.1x0.25x 50 1C7 1C 7 5 50 3 _
M1 x0.25x 50 3C2 3C 2 5 50 3 M1.1x0.256x 50 1C8 1C 8 5 50 3 :: |
M1 x0.25x 50 3C3 3C 3 5 50 3 M1.1x0.25x 50 BO B 0 5 50 3 %T
M1 x0.25x 50 3C4 3C 4 5 50 3 M1.1x0.25%x 50 B1 B 1 5 50 3 59
M1 x0.25x 50 3C5 3C 5 5 50 3 M1.1x0.25x 50 B2 B 2 5 50 3 ('37
M1 x0.25x 50 3C6 3C 6 5 50 3 M1.1x0.25x 50 B3 B 3 5 50 3 I.‘/
M1 x0.25x 50 3C7 3C 7 5 50 3 M1.1x0.25%x 50 B4 B 4 5 50 3 J
M1 x0.25x 50 3C8 3C 8 5 50 3 M1.1x0.25x 50 BS5 B 5 5 50 3 IT
M1 x0.25x 50 PO P 0 5 50 3 M1.1x0.256x 50 B6 B 6 5 50 3 C
M1 x0.25x 50 P1 B 1 5 50 3 M1.1x0.25x 50 B7 B 7 5 50 3
M1 x0.25x 50 P2 P 2 5 50 3 M1.1x0.256x 50 B8 B 8 5 50 3
M1 x0.25x 50 P3 P 3 5 50 3 M1.1x0.25x 50 3CO 3C 0 5 50 3
M1 x0.25x 50 P4 P 4 5 50 3 M1.1x0.25x 50 3C1 3C 1 5 50 3
M1 x0.25x 50 PS5 P 5 5 50 3 M1.1x0.25x 50 3C2 3C 2 5 50 3
M1 x0.25x 50 P6 ” 6 5 50 3 M1.1x0.256x 50 3C3 3C 3 5 50 3
M1 x0.25x 50 P7 B 7 5 50 3 M1.1x0.25x 50 3C4 3C 4 5 50 3
M1 x0.25x 50 P8 B 8 5 50 3 M1.1x0.25x 50 3C5 3C 5 5 50 3
M1 x0.2 x 50 1CO 1C 0 5 50 3 M1.1x0.256x 50 3C6 3C 6 5 50 3
M1 x0.2 x 50 1C1 1C 1 5 50 3 M1.1x0.25x 50 3C7 3C 7 5 50 3
M1 x0.2 x 50 1C2 1C 2 5 50 3 M1.1x0.25x 50 3C8 3C 8 5 50 3
M1 x0.2 x 50 1C3 1C 3 5 50 3 M1.1x0.25%x 50 PO P 0 5 50 3
M1 x0.2 x 50 1C4 1C 4 5 50 3 M1.1x0.25%x 50 P1 P 1 5 50 3
M1 x0.2 x 50 1C5 1C 5 5 50 3 M1.1x0.25x 50 P2 P 2 5 50 3
M1 x0.2 x 50 1C6 1C 6 5 50 3 M1.1x0.256x 50 P3 P 3 5 50 3
M1 x0.2 x 50 1C7 1C 7 5 50 3 M1.1x0.25%x 50 P4 P 4 5 50 3
M1 x0.2 x 50 1C8 1C 8 5 50 3 M1.1x0.25x 50 PS5 P 5 5 50 3
M1 x0.2 x 50 BO B 0 5 50 3 M1.1x0.25%x 50 P6 B 6 5 50 3
M1 x0.2 x 50 B1 B 1 5 50 3 M1.1x0.256x 50 P7 P 7 5 50 3
M1 x0.2 x 50 B2 B 2 5 50 3 M1.1x0.25x 50 P8 P 8 5 50 3
M1 x0.2 x 50 B3 B 3 5 50 3 M1.1x0.2 x 50 1CO 1C 0 5 50 3
M1 x0.2 x 50 B4 B 4 5 50 3 M1.1x0.2 x 50 1C1 1C 1 5 50 3
M1 x0.2 x 50 BS5 B 5 5 50 3 M1.1x0.2 x 50 1C2 1C 2 5 50 3
M1 x0.2 x 50 B6 B 6 5 50 3 M1.1x0.2 x 50 1C3 1C 3 5 50 3
M1 x0.2 x 50 B7 B 7 5 50 3 M1.1x0.2 x 50 1C4 1C 4 5 50 3
M1 x0.2 x 50 B8 B 8 5 50 3 M1.1x0.2 x 50 1C5 1C 5 5 50 3
M1 x0.2 x 50 3CO0 3C 0 5 50 3 M1.1x0.2 x 50 1C6 1C 6 5 50 3
M1 x0.2 x 50 3C1 3C 1 5 50 3 M1.1x0.2 x 50 1C7 1C 7 5 50 3
M1 x0.2 x 50 3C2 3C e 5 50 3 M1.1x0.2 x 50 1C8 1C 8 5 50 3
M1 x0.2 x 50 3C3 3C 3 5 50 3 M1.1x0.2 x 50 BO B 0 5 50 3
M1 x0.2 x 50 3C4 3C 4 5 50 3 M1.1x0.2 x 50 B1 B 1 5 50 3
M1 x0.2 x 50 3C5 3C 5 5 50 3 M1.1x0.2 x 50 B2 B 2 5 50 3




ITY L wbh-C i1 TAFLET-C IT9 L wh-C i1 TAFLET-C

#ME:HSSE FREWIE:C #ME:HSSE FREUUE:C

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

s
IT-TF-COYY RIERILS 7
P e tw g
| —— s B 211 (um) 6al- U EvF 2R BIEE| BfY TEE IR 2R R U EvF 2R BIEE| BfY TEE AR 2R it
3C | 3uW . M1.4x0.3 x 60 3C7 | 3C 7 7 60 3 M1.6x0.35x 60 3C1 3C 1 8 60 3
- P | aw % M1.4x0.3 x 60 3c8 | 3C | 8 | 7 | 60 | 3 M1.6x0.35x 60 3c2 | 3C | 2 8 | 60 | 3 "
oB% o M1.4x0.3 x 60 3C9 | 3C | 9 7 | 60 | 3 M1.6x0.35x 60 3C3 | 3C | 3 8 | 60 | 3 BX 38
2k e M1.4x0.3 x 60 P1 P [ 1 7 | 60 | 3 M1.6x0.35x 60 3c4 | 3C | 4 | 8 | 60 | 3 =
=¥ o N i = I N i - M1.4x0.3 x 60 P2 P | 2 7 | 60 | 3 M1.6x0.35x 60 305 | 3C | 5 8 | 60 | 3 FS
%g U EvF 2R BIMEE| Bf e IR 2R R FU  EvF 2R BMEE| Bf HEE IR 2R ites T P 3 - 0 3 e me SE soe 30 6 8 0 3 g%
=) [wiaxo2 x 50 B3 B | 3 | 5 | 50 | 3 M1.2x0.2 x 50 10| 1C | 0 | 5 | 50 | 3 M1.4x0.3 x 60 P4 P | 4 | 7 | 60 | 3 M1.6x0.35x 60 3C7 | 3C | 7 | 8 | 60 | 3 > o
5] [mrix02 x50 B4 B | 4 | 5 | 50 | 3 M1.2x0.2 x 50 1C1 | 1C | 1 5 | 50 | 3 M1.4x0.3 x 60 P5 P | & 7 | 60 | 3 M1.6x0.35x 60 3C8 | 3C | 8 | 8 | 60 | 3 53
W= | | mMi1x02 x 50 BS B | 5 | 5 | 50 | 3 M1.2x0.2 x 50 1c2 | 1C | 2 | 5 | 50 | 3 M1.4x0.3 x 60 P6 P | & 7 | 60 | 3 M1.6x0.35x 60 3C9 | 3C | 9 8 | 60 | 3 20
33 M1.1x0.2 x 50 B6 B | 6 | 5 | 50 | 3 M1.2x02 x 50 163 | 1c | 3 | 5 | 50 | 3 M1.4x0.3 x 60 P7 P | 7 | 7 | 60 | 3 M1.6x0.35x 60 P1 P 1 8 | 60 | 3 £3
~ 7, | m1ix02 x 50 B7 B | 7 | 5 | 50 | 3 M1.2x0.2 x 650 1c4 | 1C | 4 | 5 | 50 | 3 M1.4x0.3 x 60 P8 P | 8 | 7 | 60 | 3 M1.6x0.35x 60 P2 P | 2 8 | 60 | 3 0
m Y M1.1x0.2 x 50 B8 B | 8 | 5 | 50 | 3 M1.2x0.2 x 50 15 | 1c | 5 | 5 | 50 | 3 M1.4x0.3 x 60 P9 P | 9 | 7 | 60 | 3 M1.6x0.35x 60 P3 P | 3 8 | 60 | 3 =
<" [mi.ix02 x50 aco | 3 | 0 | 5 | 50 | 3 M1.2x0.2 x 50 1C6 | 1C_| 6 | 5 | 50 | 3 M1.4x0.2 x 60 1C0 | 1C | O | 7 | 60 | 3 M1.6x0.35x 60 P4 P | 4 | 8 | 60 | 3 E3
M1.1x0.2 x 50 3C1 | 3C | 1 5 | 50 | 3 M1.2x0.2 x 50 167 | 1C | 7 | 5 | 50 | 3 M1.4x0.2 x 60 1C1 | 1C | 1 7 | 60 | 3 M1.6x0.35x 60 P5 P | 5 8 | 60 | 3
ogs | M11x02xs03c2 [ o6 | 2 | 5 | s0 | 3 M1.2x0.2 x 50 1c8 | 1C | 8 | 5 | 50 | 3 M1.4x0.2 x 60 1c2 | 1C | 2 7 | 60 | 3 M1.6x0.35x 60 P6 P | & 8 | 60 | 3 =%
S M1.1x0.2 x 50 3c3 | 3C | 3 | 5 | 50 | 3 M1.2x0.2 x 50 BO B | o | 5 | 50 | 3 M1.4x0.2 x 60 1C3 | 1C | 3 7 | 60 | 3 M1.6x0.35x 60 P7 P | 7 | 8 | 60 | 3 S
@Fa M1.1x02 x 50 3c4 | 3C | 4 | 5 | 50 | 3 M1.2x0.2 x 50 BI B 1 5 | 50 | 3 M1.4x0.2 x 60 1c4 | 1C | 4 | 7 | 60 | 3 M1.6x0.35x 60 P8 P | 8 | 8 | 60 | 3 Fﬂ@
@=ff | miix02 x50 3c5s | 3c | 5 | 5 | 50 | 3 M1.2x0.2 x 50 B2 B | 2 | 5 | 50 | 3 M1.4x0.2 x 60 1C5 | 1C | 5 7 | 60 | 3 M1.6x0.35x 60 P9 P | 9 | 8 |60 | 3 [E =
Sff |miixo2 x50 3c6 | ac | 6 | 5 | 50 | 3 M1.2x0.2 x 50 B3 B | 3 | 5 | 50 | 3 M1.4x0.2 x 60 1C6 | 1C | 6 7 | 60 | 3 M1.6x0.2 x 60 1CO | 1C | O | 8 | 60 | 3 T
B |Max02 xs03c7 | 3¢ | 7 | 5 | 50 | 3 M1.2x0.2 x 50 B4 B | 4 | 5 | 50 | 3 M1.4x0.2 x 60 1C7 | 1C | 7 | 7 | 60 | 3 M1.6x0.2 x 60 1C1 | 1C | 1 8 | 60 | 3 BB
S% [Mix02x50308 | ac | 8 | 5 | 50 | 3 M1.2x0.2 x 50 B5 B | 5 | 5 | 50 | 3 M1.4x0.2 x 60 1c8 | 1C | 8 | 7 | 60 | 3 M1.6x0.2 x 60 1c2 | 1C | 2 8 | 60 | 3 *xo
= MI1.1x0.2 x 50 PO P | o | 5 | 50| 3 M1.2x0.2 x 50 B6 B | 6 | 5 | 50 | 3 M1.4x0.2 x 60 BO B | o | 7 |60 | 3 M1.6x0.2 x 60 1C3 | 1C | 3 8 | 60 | 3 =
= M1.1x0.2 x 50 P1 P 1 5 | 50 | 3 M1.2x0.2 x 50 B7 B | 7 | 5 | 50 | 3 M1.4x0.2 x 60 BI B 1 7 | e0 | 3 M1.6x0.2 x 60 1C4 | 1C | 4 | 8 | 60 | 3 =
e M1.1x0.2 x 50 P2 P | 2 | 5 | 50 | 3 M1.2x0.2 x 50 BS B | 8 | 5 | 50 | 3 M1.4x0.2 x 60 B2 B | 2 7 | 60 | 3 M1.6x0.2 x 80 1C5 | 1C | 5 8 | 60 | 3 =
S M1.1x0.2 x 50 P3 P | 3 | 5 | 50 | 3 M1.2x0.2 x 50 3c0 | 3C | 0 | 5 | 50 | 3 M1.4x0.2 x 60 B3 B | 3 7 | 60 | 3 M1.6x0.2 x 60 1C6 | 1C | 6 8 | 60 | 3 S
_ | mM1ax0.2 x 50 P4 P | 4 | 5 | 50 | 3 M1.2x0.2 x 50 3C1 | 3C | 1 5 | 50 | 3 M1.4x0.2 x 60 B4 B | 4 | 7 | 60 | 3 M1.6x0.2 x 60 1C7 | 1C | 7 | 8 | 60 | 3 _
| 7 [wm1.1x02 x 50 Ps P | 5 | 5 | 50 | 3 M1.2x0.2 x 50 3c2 | 3 | 2 | 5 | 50 | 3 M1.4x0.2 x 60 B5 B 5 7 | 60 | 3 M1.6x0.2 x 60 1c8 | 1C | 8 | 8 | 60 | 3 =
T=> |[Mi.ix02 x 50 P& P | 6 | 5 | 50 | 3 M1.2x02 x 50 3c3 | 3c | 3 | 5 | 50 | 3 M1.4x0.2 x 60 B6 B | 6 7 | 60 | 3 M1.6x0.2 x 60 BO B | o | 8 |60 | 3 =T
Fh [ miixo2 x s0 P7 P | 7 | 5 | 50 | 3 M1.2x0.2 x 50 3c4 | 3C | 4 | 5 | 50 | 3 M1.4x0.2 x 60 B7 B | 7 | 7 | 60 | 3 M1.6x0.2 x 60 BI B 1 8 | 60 | 3 n&
75 [ miixo2 x 50 Ps P | 8 | 5 | 50 | 3 M1.2x02 x 50 3c5 | 3C | 5 | 5 | 50 | 3 M1.4x0.2 x 60 B8 B | 8 | 7 | 60 | 3 M1.6x0.2 x 60 B2 B | 2 8 | 60 | 3 o7
L M1.2x0.26x 50 10 | 1C | 0 | 5 | 50 | 3 M1.2x0.2 x 50 3c6 | 3C | 6 | 5 | 50 | 3 M1.4x0.2 x 60 3c0 | 3C | O | 7 | 60 | 3 M1.6x0.2 x 60 B3 B | 3 8 | 60 | 3 L
4 M1.2x0.26x 60 1C1 | 1C | 1 5 | 50 | 3 M1.2x0.2 x 50 3C7 | 3C | 7 | 5 | 50 | 3 M1.4x0.2 x 60 3C1 | 3C | 1 7 | 60 | 3 M1.6x0.2 x 60 B4 B | 4 | 8 | 60 | 3 J
||‘ M1.2x0.26x 50 1c2 | 1C | 2 | 5 | 50 | 3 M1.2x0.2 x 50 3c8 | 3C | 8 | 5 | 50 | 3 M1.4x0.2 x 60 3c2 | 3C | 2 7 | 60 | 3 M1.6x0.2 x 60 B5 B 5 8 | 60 | 3 IT
C M1.2x0.25x 50 163 | 1c | 3 | 5 | 50 | 3 M1.2x0.2 x 50 PO P | o | 5 | 50 | 3 M1.4x0.2 x 60 3C3 | 3C | 3 7 | 60 | 3 M1.6x0.2 x 60 B6 B | 6 8 | 60 | 3 o
M1.2x0.25x 50 1c4 | 1C | 4 | 5 | 50 | 3 M1.2x0.2 x 50 P1 P 1 5 | 50 | 3 M1.4x0.2 x 60 3c4 | 3C | 4 | 7 | 60 | a M1.6x0.2 x 60 B7 B | 7 | 8 | 60 | 3
M1.2x0.25x 50 15 | 1C | 5 | 5 | 50 | 3 M1.2x0.2 x 50 P2 P | 2 | 5 | 50 | 3 M1.4x0.2 x 60 3C5 | 3C | 5 7 | 60 | 3 M1.6x0.2 x 60 B8 B | 8 | 8 | 60 | 3
M1.2x0.26x 50 1C6 | 1C | 6 | 5 | 50 | 3 M1.2x0.2 x 50 P3 P | 3 | 5 | 50| 3 M1.4x0.2 x 60 3C6 | 3C | 6 7 | 60 | 3 M1.6x0.2 x 60 3c0 | 3C | O | 8 | 60 | 3
M1.2x0.25x 50 1€7 | 1C | 7 | 5 | 50 | 3 M1.2x0.2 x 50 P4 P | 4 | 5 | 50 | 3 M1.4x0.2 x 60 3C7 | 3C | 7 | 7 | 60 | 3 M1.6x0.2 x 60 3C1 | 3C | 1 8 | 60 | 3
M1.2x0.26x 50 1c8 | 1C | 8 | 5 | 50 | 3 M1.2x0.2 x 50 P5 P | 5 | 5 | 50 | 3 M1.4x0.2 x 60 3c8 | 3C | 8 | 7 | 60 | 3 M1.6x0.2 x 60 3c2 | 3C | 2 8 | 60 | 3
M1.2x0.25x 50 BO B | o | 5 | 50 | 3 M1.2x0.2 x 50 P6 P | 6 | 5 | 50 | 3 M1.4x0.2 x 60 PO P | 0o | 7 |60 | 3 M1.6x0.2 x 60 3c3 | 3C | 3 8 | 60 | 3
M1.2x0.25x 50 B1 B 1 5 | 50 | 3 M1.2x0.2 x 50 P7 P | 7 | 5 | 50 | 3 M1.4x0.2 x 60 P1 P 1 7 | 60 | 3 M1.6x0.2 x 60 3c4 | 3C | 4 | 8 | 60 | 3
M1.2x0.25x 50 B2 B | 2 | 5 | 50 | 3 M1.2x0.2 x 50 P8 P | 8 | 5 | 50 | 3 M1.4x0.2 x 60 P2 P | 2 7 | 60 | 3 M1.6x0.2 x 60 3C5 | 3C | 5 8 | 60 | 3
M1.2x0.25x 50 B3 B | 3 | 5 | 50 | 3 M1.4x0.3 x 60 100 | 1C | 1 7 | 60 | 3 M1.4x0.2 x 60 P3 P | 3 7 | 60 | 3 M1.6x0.2 x 60 3C6 | 3C | 6 8 | 60 | 3
M1.2x0.25x 50 B4 B | 4 | 5 | 50 | 3 M1.4x0.3 x 60 11 | 1c | 2 | 7 | 60 | 3 M1.4x0.2 x 60 P4 P | 4 | 7 | 60 | 3 M1.6x0.2 x 60 3C7 | 3C | 7 | 8 | 60 | 3
M1.2x0.25x 50 B5 B | 5 | 5 | 50 | 3 M1.4x0.3 x 60 1c2 | 1C | 3 | 7 | 60 | 3 M1.4x0.2 x 60 P5 P | 5 7 | 60 | 3 M1.6x0.2 x 60 3c8 | 3C | 8 | 8 | 60 | 3
M1.2x0.25x 50 B6 B | 6 | 5 | 50 | 3 M1.4x0.3 x 60 163 | 1c | 4 | 7 | 60 | 3 M1.4x0.2 x 60 P6 P | & 7 | 60 | 3 M1.6x0.2 x 60 PO P | 0o | 8 |60 | 3
M1.2x0.25x 50 B7 B | 7 | 5 | 50 | 3 M1.4x0.3 x 60 1C4 | 1c | 5 | 7 | 60 | 3 M1.4x0.2 x 60 P7 P | 7 | 7 | 60 | 3 M1.6x0.2 x 60 P1 P 1 8 | 60 | 3
M1.2x0.25x 50 BS B | 8 | 5 | 50 | 3 M1.4x0.3 x 60 15 | 1c | 6 | 7 | 60 | 3 M1.4x0.2 x 60 P8 P | 8 | 7 | 60 | 3 M1.6x0.2 x 60 P2 P | 2 8 | 60 | 3
M1.2x0.25x 50 3c0 | 3C | O | 5 | 50 | 3 M1.4x0.3 x 60 1C6 | 1C | 7 | 7 | 60 | 3 M1.6x0.36x 60 1C1 | 1C | 1 8 | 60 | 3 M1.6x0.2 x 60 P3 P | 3 8 | 60 | 3
M1.2x0.25x 50 3C1 | 3C | 1 5 | 50 | 3 M1.4x0.3 x 60 1C7 | 1C | 8 | 7 | 60 | 3 M1.6x0.35x 60 1c2 | 1C | 2 8 | 60 | 3 M1.6x0.2 x 60 P4 P | 4 | 8 | 60 | 3
M1.2x0.26x 50 3c2 | 3C | 2 | 5 | 50 | 3 M1.4x0.3 x 60 1c8 | 1C | 9 | 7 | 60 | 3 M1.6x0.35x 60 1C3 | 1C | 3 8 | 60 | 3 M1.6x0.2 x 60 P5 P | 5 8 | 60 | 3
M1.2x0.25x 50 33 | 3C | 3 | 5 | 50 | 3 M1.4x0.3 x 60 BO B 1 7 | 60 | 3 M1.6x0.35x 60 1c4 | 1C | 4 | 8 | 60 | 3 M1.6x0.2 x 60 P6 P | & 8 | 60 | 3
M1.2x0.25x 50 3c4 | 3C | 4 | 5 | 50 | 3 M1.4x0.3 x 60 BI B | 2 | 7 | 60 | 3 M1.6x0.35x 60 1C5 | 1C | 5 8 | 60 | 3 M1.6x0.2 x 60 P7 P | 7 | 8 | 60 | 3
M1.2x0.25x 50 35 | 3C | 5 | 5 | 50 | 3 M1.4x0.3 x 60 B2 B | 3 | 7 | 60 | 3 M1.6x0.35x 60 1C6 | 1C | 6 8 | 60 | 3 M1.6x0.2 x 60 P8 P | 8 | 8 | 60 | 3
M1.2x0.25x 50 36 | 3C | 6 | 5 | 50 | 3 M1.4x0.3 x 60 B3 B | 4 | 7 | 60 | 3 M1.6x0.35x 60 1C7 | 1C | 7 | 8 | 60 | 3 M1.7x0.36x 60 1C1 | 1C | 1 8 | 60 | 3
M1.2x0.26x 650 3c7 | 3C | 7 | 5 | 50 | 3 M1.4x0.3 x 60 B4 B | 5 | 7 | 60 | 3 M1.6x0.35x 60 1Cc8 | 1C | 8 | 8 | 60 | 3 M1.7x0.35x 60 1c2 | 1C | 2 8 | 60 | 3
M1.2x0.25x 50 3c8 | 3C | 8 | 5 | 50 | 3 M1.4x0.3 x 60 B5 B | 6 | 7 | 60 | 3 M1.6x0.35x 60 1C9 | 1C | 9 8 | 60 | 3 M1.7x0.35x 60 1C3 | 1C | 3 8 | 60 | 3
M1.2x0.25x 50 PO P | o | 5 | 50| 3 M1.4x0.3 x 60 B6 B | 7 | 7 | 60 | 3 M1.6x0.35x 60 BI B 1 8 | 60 | 3 M1.7x0.35x 60 1C4 | 1C | 4 | 8 | 60 | 3
M1.2x0.25x 50 P1 P 1 5 | 50 | 3 M1.4x0.3 x 60 B7 B | 8 | 7 | 60 | 3 M1.6x0.35x 60 B2 B | 2 8 | 60 | 3 M1.7x0.35x 60 1C5 | 1C | 5 8 | 60 | 3
M1.2x0.25x 50 P2 P | 2 | 5 | 50 | 3 M1.4x0.3 x 60 BS B | 9 | 7 | 60 | 3 M1.6x0.35x 60 B3 B | 3 8 | 60 | 3 M1.7x0.35x 60 1C6 | 1C | 6 8 | 60 | 3
M1.2x0.25x 50 P3 P | 3 | 5 | 50 | 3 M1.4x0.3 x 60 3C1 | 3C | 1 7 | 60 | 3 M1.6x0.35x 60 B4 B | 4 | 8 | 60 | 3 M1.7x0.35x 60 1C7 | 1C | 7 | 8 | 60 | 3
M1.2x0.26x 50 P4 P | 4 | 5 | 50 | 3 M1.4x0.3 x 60 3c2 | 3 | 2 | 7 | 60 | 3 M1.6x0.35x 60 B5 B 5 8 | 60 | 3 M1.7x0.35x 60 1c8 | 1C | 8 | 8 | 60 | 3
M1.2x0.25x 50 P5 P | 5 | 5 | 50 | 3 M1.4x0.3 x 60 3c3 | 3C | 3 | 7 | 60 | 3 M1.6x0.35x 60 B6 B 6 8 | 60 | 3 M1.7x0.35x 60 1C9 | 1C | 9 8 | 60 | 3
M1.2x0.25x 50 P6 P | 6 | 5 | 50| 3 M1.4x0.3 x 60 3c4 | 3C | 4 | 7 | 60 | 3 M1.6x0.35x 60 B7 B | 7 | 8 | 60 | 3 M1.7x0.35x 60 B1 B 1 8 | 60 | 3
M1.2x0.25x 50 P7 P | 7 | 5 | 50 | 3 M1.4x0.3 x 60 3C5 | aC | 5 | 7 | 60 | 3 M1.6x0.35x 60 B8 B | 8 | 8 | 60 | 3 M1.7x0.35x 60 B2 B | 2 8 | 60 | 3
M1.2x0.25x 50 P8 P | 8 | 5 | 50| 3 M1.4x0.3 x 60 3c6 | aC | 6 | 7 | 60 | 3 M1.6x0.35x 60 B9 B | 9 | 8 | 60 | 3 M1.7x0.35x 60 B3 B | 3 8 | 60 | 3




ITY L wbh-C i1 TAFLET-C IT9 L wh-C i1 TAFLET-C

#ME:HSSE FREWIE:C #ME:HSSE FREUUE:C

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

s
IT-TF-COYY RIERILS 7
P e tw g
| —— s B 211 (um) 6al- U EvF 2R BIEE| BfY TEE IR 2R R U EvF 2R BIEE| BfY TEE AR 2R it
3C | 3uW . M1.8x0.2 x 60 3C6 | 3C 6 8 60 3 M2 x0.25x 60 3C1 | 3C 1 9 60 3
- P | aw % M1.8x0.2 x 60 3C7 | 3C | 7 | 8 | 60 | 3 M2 x0.25x 60 3c2 | 3C | 2 | 9 | 60 | 3 "
OB% o M1.8x0.2 x 60 3c8 | 3C | 8 | 8 | 60 | 3 M2 x0.25x 60 3c3 | 3C | 3 | 9 | 60 | 3 BX 38
2k e M1.8x0.2 x 60 PO P | 0 | 8 | 60 | 3 M2 x0.25x 60 3c4 | 3C | 4 | 9 | 60 | 3 =
=¥ o N i = I N i - M1.8x0.2 x 60 P1 P 1 8 | 60 | 3 M2 x0.25x 60 35 | 3C | 5 | 9 | 60 | 3 FS
%g U EvF 2R BIMEE| Bf e IR 2R R FU  EvF 2R BMEE| Bf HEE IR 2R ites IR e P 2 8 0 3 e e SE oe 30 6 9 0 3 g%
=) [w17x035x 60 B4 B | 4 | 8 | 60 | 3 M1.8x0.35x 60 1C1 | 1C | 1 8 | 60 | 3 M1.8x0.2 x 60 P3 P | 3 | 8 | 60| 3 M2 x0.25x 60 3Cc7 | 3C | 7 | 9 | 60 | 3 > o
5] |[Mm17x035x 60 B5 B | 5 | 8 | 60 | 3 M1.8x0.35x 60 1c2 | 1C | 2 | 8 | 60 | 3 M1.8x0.2 x 60 P4 P | 4 | 8 | 60 | 3 M2 x0.25x 60 3c8 | 3C | 8 | 9 | 60 | 3 53
W | | mM1.7x0.35x 60 B6 B | 6 | 8 | 60 | 3 M1.8x0.365x 60 13 | 1C | 3 | 8 | 60 | 3 M1.8x0.2 x 60 P5 P | 5 | 8 | 60 | 3 M2 x0.25x 60 3c9 | 3C | 9 | 9 | 60 | 3 20
33 M1.7x0.35x 60 B7 B | 7 | 8 | 60 | 3 M1.8x0.35x 60 1c4 | 1c | 4 | 8 | 60 | 3 M1.8x0.2 x 60 P86 P | 6 | 8 | 60 | 3 M2 x0.25x 60 P1 P 1 9 | 60 | 3 £3
~ 7, | m1.7x0.35x 60 BB B | 8 | 8 | 60 | 3 M1.8x0.35x 60 1C5 | 1C | 5 | 8 | 60 | 3 M1.8x0.2 x 60 P7 P | 7 | 8 | 60 | 3 M2 x0.25x 60 P2 P | 2 | 9 | 60 | 3 0
= [ mM1.7x0.35x 60 B9 B | 9 | 8 | 60 | 3 M1.8x0.35x 60 1C6 | 1C | 6 | 8 | 60 | 3 M1.8x0.2 x 60 P8 P | 8 | 8 | 60 | 3 M2 x0.25x 60 P3 P | 3 | 9 |60 | 3 =
< b [ m1.7x035x 60 ac1 | 3C | 1 8 | 60 | 3 M1.8x0.35x 60 17 | 1C | 7 | 8 | 60 | 3 M2 x0.4 x 60 1C1 | 1C | 1 9 | 60 | 3 M2 x0.25x 60 P4 P | 4 | 9 | 60 | 3 E3
M1.7x0.36x 60 3c2 | 3C | 2 | 8 | 60 | 3 M1.8x0.365x 60 1C8 | 1C | 8 | 8 | 60 | 3 M2 x0.4 x 60 1c2 | 1C | 2 | 9 | 60 | 3 M2 x0.25x 60 P5 P | 5 | 9 | 60 | 3
wgs [M17x0ssx 60 363 | o | 5 [ 8 [ e | 3 M1.8x0.35x 60 1C8 | 1C | 9 | 8 | 60 | 3 M2 x0.4 x 60 1C3 | 1C | 38 | 9 | 60 | 3 M2 x0.25x 60 P6 P | 6 | 9 | 60 | 3 =%
S M1.7x0.35x 60 3c4 | aC | 4 | 8 | 60 | 3 M1.8x0.35x 60 B1 B 1 8 | 60 | 3 M2 x0.4 x 60 1c4 | 1C | 4 | 9 | 60 | 3 M2 x0.25x 60 P7 P | 7 | 9 | 60 | 3 S
@Fa M1.7x0.35x 60 3C5 | 3C | 5 | 8 | 60 | 3 M1.8x0.35x 60 B2 B | 2 | 8 | 60 | 3 M2 x0.4 x 60 165 | 1C | 5 | & | 60 | 3 M2 x0.25x 60 P8 P | 8 | 9 [0 | 3 Fﬂ@
@ | wm1.7x035x 60 3c6 | 3c | 6 | 8 | 60 | 3 M1.8x0.35x 60 B3 B | 3 | 8 | 60 | 3 M2 x0.4 x 60 1C6 | 1C | 6 | © | 60 | 3 M2 x0.25x 60 P9 P | 9 | 9 |60 | 3 [E =
Sff | mi7x035x 60 3c7 | ac | 7 | 8 | 60 | 3 M1.8x0.35x 60 B4 B | 4 | 8 | 60 | 3 M2 x0.4 x 60 1C7 | 1C | 7 | 9 | 60 | 3 M2 x0.4 x 80 1C1 | 1C | 1 9 | 80 | 3 T
B |Mi.7x035x 60 3c8 | 3 | 8 | 8 | 60 | 3 M1.8x0.35x 60 B5 B | 5 | 8 | 60 | 3 M2 x0.4 x 60 168 | IC | 8 | & | 60 | 3 M2 x0.4 x 80 1c2 | 1C | 2 | 9 | 80 | 3 BB
Sz |Mi7x03sx 60 3ce | & | o | 8 | €0 | 3 M1.8x0.35x 60 B6 B | 6 | 8 | 60 | 3 M2 x04 x 60 1C9 | 1C | 9 | 9 | 60 | 3 M2 x04 x 80 13 | 1C | 8 | 9 | 80 | 3 *xo
= M1.7x0.35x 60 P1 P 1 8 | 60 | 3 M1.8x0.35x 60 B7 B | 7 | 8 | 60 | 3 M2 x0.4 x 60 BI B 1 9 | 60 | 3 M2 x0.4 x 80 1ca | 1C | 4 | 9 | 80 | 3 =
= M1.7x0.35x 60 P2 P | 2 | 8 | 60 | 3 M1.8x0.35x 60 B8 B | 8 | 8 | 60 | 3 M2 x0.4 x 60 B2 B | 2 | 9 | 60 | 3 M2 x0.4 x 80 166 | I1C | 5 | ¢ | 80 | 3 =
e M1.7x0.35x 60 P3 P | 3 | 8 | 60 | 3 M1.8x0.35x 60 B9 B | 9 | 8 | 60 | 3 M2 x0.4 x 60 B3 B | 3 | 9 | 60 | 3 M2 x0.4 x 80 1c6 | 1C | 6 | 9 | 80 | 3 =
S M1.7x0.35x 60 P4 P | 4 | 8 | 60 | 3 M1.8x0.35x 60 3C1 | 3C | 1 8 | 60 | 3 M2 x0.4 x 60 B4 B | 4 | 9 | 60 | 3 M2 x0.4 x 80 1C7 | 1C | 7 | 9 | 80 | 3 S
_ | mM1.7x0.35x 60 PS5 P | 5 | 8 | 60 | 3 M1.8x0.365x 60 3c2 | 3C | 2 | 8 | 60 | 3 M2 x0.4 x 60 B5 B | 5 | 9 | 60 | 3 M2 x04 x 80 1c8 | IC | 8 | ¢ | 80 | 3 _
| 7 [wm1.7x0.35x 60 P& P | 6 | 8 | 60 | 3 M1.8x0.35x 60 3c3 | 3C | 3 | 8 | 60 | 3 M2 x0.4 x 60 B6 B | 6 | 9 | 60 | 3 M2 x0.4 x 80 1ce | 1C | 9 | 9 | 80 | 3 =
T2 | mi.7x0.35x 60 P7 P | 7 | 8 | 60 | 3 M1.8x0.35x 60 3c4 | 3C | 4 | 8 | 60 | 3 M2 x0.4 x 60 B7 B | 7 | 9 | 60 | 3 M2 x0.4 x 80 BI B 1 9 | 80 | 3 =T
Fh | m.7x0.35x 60 P8 P | 8 | 8 | 60 | 3 M1.8x0.35x 60 3C5 | 3C | 5 | 8 | 60 | 3 M2 x0.4 x 60 B8 B | 8 | 9 | 60 | 3 M2 x0.4 x 80 B2 B | 2 | 9 | 80 | 3 n&
J& | mM1.7x0.35x 60 P9 P | 9 | 8 | 60 | 3 M1.8x0.35x 60 3C6 | 3C | 6 | 8 | 60 | 3 M2 x0.4 x 60 B9 B | 9 | 9 | 60 | 3 M2 x0.4 x 80 B3 B | 3 | 9 | 80 | 3 o7
L M1.7x0.2 x 60 10| 1C | 0 | 8 | 60 | 3 M1.8x0.365x 60 37 | 3C | 7 | 8 | 60 | 3 M2 x0.4 x 60 3C1 | 3C | 1 9 | 60 | 3 M2 x0.4 x 80 B4 B | 4 | 9 | 80 | 3 L
4 M1.7x0.2 x 60 1C1 | 1C | 1 8 | 60 | 3 M1.8x0.36x 60 38 | 3C | 8 | 8 | 60 | 3 M2 x0.4 x 60 3c2 | 3C | 2 | 9 | 60 | 3 M2 x0.4 x 80 B5 B | 5 | 9 | 80 | 3 J
||‘ M1.7x0.2 x 60 1c2 | 1C | 2 | 8 | 60 | 3 M1.8x0.35x 60 3c9 | 3C | 9 | 8 | 60 | 3 M2 x0.4 x 60 3c3 | 3C | 3 | 9 | 60 | 3 M2 x0.4 x 80 B6 B | 6 | 9 | 80 | 3 IT
C M1.7x02 x 60 163 | 1c | 3 | 8 | 60 | 3 M1.8x0.35x 60 P1 P 1 8 | 60 | 3 M2 x0.4 x 60 3c4 | 3C | 4 | 9 | 60 | 3 M2 x0.4 x 80 B7 B | 7 | 9 | 80 | 3 o
M1.7x02 x 60 1c4 | 1c | 4 | 8 | 60 | 3 M1.8x0.35x 60 P2 P | 2 | 8 | 60 | 3 M2 x0.4 x 60 366 | 3C | 5 | © | 60 | 8 M2 x0.4 x 80 B8 B | 8 | 9 | 80 | 3
M1.7x0.2 x 60 15 | 1c | 5 | 8 | 60 | 3 M1.8x0.35x 60 P3 P | 3 | 8 | 60 | 3 M2 x0.4 x 60 3c6 | 3C | 6 | © | 60 | 3 M2 x0.4 x 80 B9 B | 9 | 9 | 80 | 3
M1.7x0.2 x 60 1C6 | 1C | 6 | 8 | 60 | 3 M1.8x0.35x 60 P4 P | 4 | 8 | 60 | 3 M2 x0.4 x 60 3C7 | 3C | 7 | 9 | 60 | 3 M2 x0.4 x 80 3C1 | 3C | 1 9 | 80 | 3
M1.7x0.2 x 60 1C7 | 1C | 7 | 8 | 60 | 3 M1.8x0.35x 60 P5 P | 5 | 8 | 60 | 3 M2 x0.4 x 60 3c8 | 3C | 8 | 9 | 60 | 3 M2 x0.4 x 80 3c2 | 3C | 2 | 9 | 80 | 3
M1.7x0.2 x 60 1c8 | 1C | 8 | 8 | 60 | 3 M1.8x0.35x 60 P6 P | 6 | 8 | 60 | 3 M2 x0.4 x 60 3c9 | 3C | 9 | 9 | 60 | 3 M2 x0.4 x 80 3c3 | 3C | 3 | 9 | 80 | 3
M1.7x0.2 x 60 BO B | o | 8 | 60 | 3 M1.8x0.35x 60 P7 P | 7 | 8 | 60 | 3 M2 x0.4 x 60 P1 P 1 9 | 60 | 3 M2 x0.4 x 80 3c4 | 3C | 4 | 9 | 80 | 3
M1.7x0.2 x 60 B1 B 1 8 | 60 | 3 M1.8x0.35x 60 P8 P | 8 | 8 | 60 | 3 M2 x0.4 x 60 P2 P | 2 | 9 | 60 | 3 M2 x0.4 x 80 365 | 3C | 5 | 9 | 80 | 3
M1.7x0.2 x 60 B2 B | 2 | 8 | 60 | 3 M1.8x0.35x 60 P9 P | 9 | 8 | 60 | 3 M2 x0.4 x 60 P3 P | 3 | 9 | 60 | 3 M2 x0.4 x 80 3c6 | 3C | 6 | 9 | 80 | 3
M1.7x0.2 x 60 B3 B | 3 | 8 | 60 | 3 M1.8x0.2 x 60 1CO_| 1C | 0 | 8 | 60 | 3 M2 x0.4 x 60 P4 P | 4 | 9 | 60 | 3 M2 x0.4 x 80 3c7 | 3C | 7 | 9 | 80 | 3
M1.7x0.2 x 60 B4 B | 4 | 8 | 60 | 3 M1.8x0.2 x 60 1C1 | 1C | 1 8 | 60 | 3 M2 x0.4 x 60 P5 P | 5 | 9 | 60| 3 M2 x04 x 80 3c8 | 3C | 8 | 9 | 80 | 3
M1.7x0.2 x 60 B5 B | 5 | 8 | 60 | 3 M1.8x0.2 x 60 1c2 | 1C | 2 | 8 | 60 | 3 M2 x0.4 x 60 P& P | 6 | 9 | 60 | 3 M2 x0.4 x 80 3c9 | 3C | 9 | 9 | 80 | 3
M1.7x0.2 x 60 B6 B | 6 | 8 | 60 | 3 M1.8x0.2 x 60 163 | 1c | 3 | 8 | 60 | 3 M2 x0.4 x 60 P7 P | 7 | 9 | 60 | 3 M2 x0.4 x 80 P1 P 1 9 | 80 | 3
M1.7x0.2 x 60 B7 B | 7 | 8 | 60 | 3 M1.8x02 x 60 1Cc4 | 1C | 4 | 8 | 60 | 3 M2 x0.4 x 60 P8 P | 8 | 9 | 60 | 3 M2 x0.4 x 80 P2 P | 2 | 9 | 80 | 3
M1.7x0.2 x 60 BS B | 8 | 8 | 60 | 3 M1.8x0.2 x 60 165 | 1c | 5 | 8 | 60 | 3 M2 x0.4 x 60 P9 P | 9 | 9 |60 | 3 M2 x0.4 x 80 P3 P | 3 | 9 | 80 | 3
M1.7x0.2 x 60 3c0 | 3C | O | 8 | 60 | 3 M1.8x0.2 x 60 1C6 | 1C | 6 | 8 | 60 | 3 M2 x0.26x 60 1C1 | 1C | 1 9 | 60 | 3 M2 x0.4 x 80 P4 P | 4 | 9 | 80| 3
M1.7x0.2 x 60 3C1 | 3C | 1 8 | 60 | 3 M1.8x0.2 x 60 1C7 | 1C | 7 | 8 | 60 | 3 M2 x0.25x 60 1c2 | 1C | 2 | 9 | 60 | 3 M2 x0.4 x 80 P5 P | 5 | 9 |80 3
M1.7x0.2 x 60 3c2 | 3C | 2 | 8 | 60 | 3 M1.8x0.2 x 60 1c8 | 1C | 8 | 8 | 60 | 3 M2 x0.25x 60 1C3 | 1C | 38 | 9 | 60 | 3 M2 x0.4 x 80 P8 P | 6 | 9 | 80| 3
M1.7x0.2 x 60 3c3 | 3c | 3 | 8 | 60 | 3 M1.8x0.2 x 60 BO B | o | 8 | 60| 3 M2 x0.25x 60 1c4 | 1C | 4 | 9 | 60 | 3 M2 x0.4 x 80 P7 P | 7 | 9 | 80 | 3
M1.7x0.2 x 60 3c4 | aC | 4 | 8 | 60 | 3 M1.8x0.2 x 60 BI B 1 8 | 60 | 3 M2 x0.25x 60 1C5 | 1C | 5 | © | 60 | 8 M2 x0.4 x 80 P8 P | 8 | 9 | 80 | 3
M1.7x0.2 x 60 35 | 3C | 5 | 8 | 60 | 3 M1.8x0.2 x 60 B2 B | 2 | 8 | 60 | 3 M2 x0.25x 60 1C6 | 1C | 6 | 9 | 60 | 3 M2 x0.4 x 80 P9 P | 9 | 9 | 80| 3
M1.7x0.2 x 60 3c6 | 3C | 6 | 8 | 60 | 3 M1.8x0.2 x 60 B3 B | 3 | 8 | 60 | 3 M2 x0.25x 60 1C7 | 1C | 7 | 9 | 60 | 3 M2 x0.25x 80 1C1 | 1C | 1 9 | 80 | 3
M1.7x0.2 x 60 3c7 | 3C | 7 | 8 | 60 | 3 M1.8x0.2 x 60 B4 B | 4 | 8 | 60 | 3 M2 x0.25x 60 1c8 | 1C | 8 | 9 | 60 | 3 M2 x0.25x 80 1c2 | 1C | 2 | 9 | 80 | 3
M1.7x0.2 x 60 3c8 | 3C | 8 | 8 | 60 | 3 M1.8x0.2 x 60 B5 B | 5 | 8 | 60 | 3 M2 x0.25x 60 1C9 | 1C | 9 | 9 | 60 | 3 M2 x0.25x 80 1c3 | 1C | 38 | 9 | 80 | 3
M1.7x0.2 x 60 PO P | o | 8 | 60| 3 M1.8x0.2 x 60 B6 B | 6 | 8 | 60 | 3 M2 x0.25x 60 B1 B 1 9 | 60 | 3 M2 x0.25x 80 1c4a | 1C | 4 | 9 | 80 | 3
M1.7x0.2 x 60 P1 P 1 8 | 60 | 3 M1.8x0.2 x 60 B7 B | 7 | 8 | 60 | 3 M2 x0.25x 60 B2 B | 2 | 9 | 60 | 3 M2 x0.25x 80 15 | 1C | 5 | 9 | 80 | 3
M1.7x0.2 x 60 P2 P | 2 | 8 | 60 | 3 M1.8x0.2 x 60 BS B | 8 | 8 | 60 | 3 M2 x0.25x 60 B3 B | 3 | 9 |60 | 3 M2 x0.25x 80 1Cc6 | 1C | 6 | 9 | 80 | 3
M1.7x0.2 x 60 P3 P | 3 | 8 | 60 | 3 M1.8x0.2 x 60 3c0 | 3C | O | 8 | 60 | 3 M2 x0.25x 60 B4 B | 4 | 9 | 60 | 3 M2 x0.25x 80 1C7 | 1C | 7 | 9 | 80 | 3
M1.7x0.2 x 60 P4 P | 4 | 8 | 60 | 3 M1.8x0.2 x 60 3C1 | 3C | 1 8 | 60 | 3 M2 x0.25x 60 B5 B | 5 | 9 | 60 | 3 M2 x0.25x 80 1c8 | 1C | 8 | 9 | 80 | 3
M1.7x0.2 x 60 P5 P | 5 | 8 | 60 | 3 M1.8x0.2 x 60 3c2 | 3C | 2 | 8 | 60 | 3 M2 x0.25x 60 B6 B | 6 | 9 | 60 | 3 M2 x0.25x 80 1c9 | 1C | 9 | 9 | 80 | 3
M1.7x0.2 x 60 P6 P | 6 | 8 | 60 | 3 M1.8x0.2 x 60 3c3 | 3C | 3 | 8 | 60 | 3 M2 x0.25x 60 B7 B | 7 | 9 | 60 | 3 M2 x0.25x 80 B1 B 1 9 | 80 | 3
M1.7x0.2 x 60 P7 P | 7 | 8 | 60 | 3 M1.8x0.2 x 60 3c4 | aC | 4 | 8 | 60 | 3 M2 x0.25x 60 B8 B | 8 | 9 | 60 | 3 M2 x0.25x 80 B2 B | 2 | 9 | 80 | 3
M1.7x0.2 x 60 P8 P | 8 | 8 | 60 | 3 M1.8x0.2 x 60 35 | aC | 5 | 8 | 60 | 3 M2 x0.25x 60 B9 B | 9 | 9 | 60| 3 M2 x0.25x 80 B3 B | 3 | 9 | 80 | 3




ITY L wbh-C i1 TAFLET-C IT9 L wh-C i1 TAFLET-C

#ME:HSSE FREWIE:C #ME:HSSE FREUUE:C

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

s
IT-TF-COYY RIERILS 7
P e tw g
| —— s B 211 (um) 6al- U EvF 2R BIEE| BfY TEE IR 2R R U EvF 2R BIEE| BfY TEE AR 2R it
3C | 3uW . M2.2x0.45x 80 3C7 | 3C 7 8 80 3 M2.3x0.4 x 60 3C1 | 3C 1 9 60 3
- P | aw % M2.2x0.45x 80 3c8 | 3C | 8 | 8 | 80 | 3 M2.3x0.4 x 60 3c2 | 3C | 2 | 9 | 60 | 3 "
oB% o M2.2x0.45x 80 3Cc9 | 3C | 9 | 8 | 80 | 3 M2.3x0.4 x 60 3c3 | 3C | 3 | 9 | 60 | 3 BX 38
2k e M2.2x0.45x 80 P1 P | 1 8 | 80 | 3 M2.3x0.4 x 60 3c4 | 3C | 4 | 9 | 60 | 3 =
=¥ o N i = I N i - M2.2x0.45x 80 P2 P | 2 | 8 | 80 | 3 M2.3x0.4 x 60 35 | 3C | 5 | 9 | 60 | 3 FS
%g U EvF 2R BIMEE| Bf e IR 2R R FU  EvF 2R BMEE| Bf HEE IR 2R ites e B o P 3 8 80 3 e v T ol 30 6 9 0 3 g%
=) [w2 xo25x 80 B4 B | 4 | 9 | 80 | 3 M2.2x0.25x 60 1C1 | 1C | 1 s | e0 | 3 M2.2x0.45x 80 P4 P | 4 | 8 | 80| 3 M2.3x0.4 x 60 3c7 | 3C | 7 | 9 | 60 | 3 > o
5] M2 x025x 80 BS B | 5 | 9 | 80 | 3 M2.2x0.25x 60 1C2 | 1C | 2 | 9 | 60 | 3 M2.2x0.45x 80 P5 P | 5 | 8 | 80 | 3 M2.3x0.4 x 60 3c8 | 3C | 8 | 9 | 60 | 3 53
W4 | | M2 x0.25x 80 BS B | 6 | 9 | 80 | 3 M2.2x0.26x 60 1C3 | 1C | 3 | 9 | 60 | 3 M2.2x0.45x 80 P6 P | 6 | 8 | 80 | 3 M2.3x0.4 x 60 3c9 | 3C | 9 | 9 | 60 | 3 20
33 M2 x0.25x 80 B7 B | 7 | 9 | 80 | 3 M2.2x0.25x 60 1c4 | 1c | 4 | 9 | 60 | 3 M2.2x0.45x 80 P7 P | 7 | 8 | 80| 3 M2.3x0.4 x 60 P1 P 1 9 | 60 | 3 £3
7, | M2 xo.25x s0 B8 B | 8 | 9 | 80 | 3 M2.2x0.25x 60 1C5 | 1C | 5 | 9 | 60 | 3 M2.2x0.45x 80 P8 P | 8 | 8 | 80 | 3 M2.3x0.4 x 60 P2 P | 2 | 9 | 60 | 3 0
= [ M2 x0.25x 80 B9 B | 9 | 9 | 80 | 3 M2.2x0.25x 60 1C6 | 1C | 6 | 9 | 60 | 3 M2.2x0.45x 80 P9 P | 9 | 8 | 80 | 3 M2.3x0.4 x 60 P3 P | 3 | 9 |60 | 3 =
< b M2 x025x 80 ac1 | 3c | 1 9 | 80 | 3 M2.2x0.25x 60 17 | 1C | 7 | 9 | 60 | 3 M2.2x0.25x 80 1C1 | 1C | 1 9 | 80 | 3 M2.3x0.4 x 60 P4 P | 4 | 9 | 60 | 3 E3
M2 x0.25x 80 3c2 | 3C | 2 | 9 | 80 | 3 M2.2x0.25x 60 1C8 | 1C | 8 | 9 | 60 | 3 M2.2x0.25x 80 1c2 | 1C | 2 | 9 | 80 | 3 M2.3x0.4 x 60 P5 P | 5 | 9 | 60 | 3
ogs | M2 x025x 80363 | oc | 3 | o |80 | 3 M2.2x0.26x 60 18 | 1C | 9 | 9 | 60 | 3 M2.2x0.25x 80 1C3 | 1C | 38 | 9 | 80 | 3 M2.3x0.4 x 60 P6 P | 6 | 9 | 60 | 3 =%
S M2 x0.25x 80 3c4 | 3C | 4 | 9 | 80 | 3 M2.2x0.25x 60 B1 B 1 9 | e0 | 3 M2.2x0.25x 80 1c4 | 1C | 4 | 9 | 80 | 3 M2.3x0.4 x 60 P7 P | 7 | 9 | 60 | 3 S
@Fa M2 x0.25x 80 3C5 | 3 | 5 | 9 | 80 | 3 M2.2x0.25x 60 B2 B | 2 | 9 | 60 | 3 M2.2x0.25x 80 165 | 1C | 5 | o | 80 | 3 M2.3x0.4 x 60 P8 P | 8 | 9 [0 | 3 Fﬂ@
@=ff | w2 xo25x 80 3c6 | 3c | 6 | 9 | 80 | 3 M2.2x0.25x 60 B3 B | 3 | 9 | 60 | 3 M2.2x0.25x 80 1C6 | 1C | 6 | © | 80 | 3 M2.3x0.4 x 60 P9 P | 9 | 9 |60 | 3 [E =
Sff |m2 xo2s5x80 3c7 | ac | 7 | 9 | 80 | 3 M2.2x0.25x 60 B4 B | 4 | 9 | 60 | 3 M2.2x0.25x 80 1C7 | 1C | 7 | 9 | 80 | 3 M2.3x0.25x 60 1C1 | 1C | 1 9 | 60 | 3 T
B |me xo25x80 3c8 | 3c | 8 | 9 | 80 | 3 M2.2x0.25x 60 B5 B | 5 | 9 | 60 | 3 M2.2x0.25x 80 1c8 | I1C | 8 | o | 80 | 3 M2.3x0.25x 60 1c2 | 1C | 2 | 9 | 60 | 3 BB
S3% [M2 x025x803ce | ac | o | 9 |80 | 3 M2.2x0.25x 60 B6 B | 6 | 9 | 60 | 3 M2.2x0.25x 80 1c9 | 1C | 9 | 9 | 80 | 3 M2.3x0.25x 60 13 | 1C | 38 | 9 | 60 | 3 *xo
= M2 x0.25x 80 PI P 1 9 | s | 3 M2.2x0.25x 60 B7 B | 7 | o | 60 | 3 M2.2x0.25x 80 B1 B 1 9 | 80 | 3 M2.3x0.25x 60 1c4 | 1C | 4 | 9 | 60 | 3 =
= M2 x0.25x 80 P2 P | 2 | o | 80 | 3 M2.2x0.25x 60 B8 B | 8 | 9 | 60 | 3 M2.2x0.25x 80 B2 B | 2 | 9 | 80 | 3 M2.3x0.25x 60 165 | 1C | 5 | o | 60 | 3 =
e M2 x0.25x 80 P3 P | 3 | 9 | 80 | 3 M2.2x0.25x 60 B9 B | 9 | 9 | 60 | 3 M2.2x0.25x 80 B3 B | 3 | 9 | 80 | 3 M2.3x0.25x 60 1C6 | 1C | 6 | 9 | 60 | 3 =
S M2 x0.25x 80 P4 P | 4 | 9 | 80| 3 M2.2x0.25x 60 3C1 | 3C | 1 s | e0 | 3 M2.2x0.25x 80 B4 B | 4 | 9 | 80 | 3 M2.3x0.25x 60 1C7 | 1C | 7 | 9 | 60 | 3 S
_ | M2 xo0.25x 80 P5 P | 5 | 9 | 80| 3 M2.2x0.25x 60 3c2 | 3C | 2 | 9 | 60 | 3 M2.2x0.25x 80 B5 B | 5 | 9 | 80 | 3 M2.3x0.25x 60 1c8 | 1C | 8 | o | 60 | 3 _
| 7 [wm2 x0.25x 80 P& P | 6 | 9 | 80| 3 M2.2x0.25x 60 3c3 | 3C | 3 | 9 | 60 | 3 M2.2x0.25x 80 B6 B | 6 | 9 | 80 | 3 M2.3x0.25x 60 1c8 | 1C | 9 | 9 | 60 | 3 =
T2 | M2 x0.25x 80 P7 P | 7 | o | 80 | 3 M2.2x0.25x 60 3c4 | 3C | 4 | 9 | 60 | 3 M2.2x0.25x 80 B7 B | 7 | 9 | 80 | 3 M2.3x0.25x 60 B1 B 1 9 | 60 | 3 =T
Fh | m2 xo2s5x 80 P8 P | 8 | 9 | 80 | 3 M2.2x0.25x 60 3C5 | 3C | 5 | 9 | 60 | 3 M2.2x0.25x 80 B8 B | 8 | 9 | 80 | 3 M2.3x0.26x 60 B2 B | 2 | 9 | e0 | 3 n&
75 | M2 x025x 80 P9 P | 9 | 9 | 80 | 3 M2.2x0.25x 60 3C6 | 3C | 6 | 9 | 60 | 3 M2.2x0.25x 80 B9 B | 9 | 9 | 80 | 3 M2.3x0.25x 60 B3 B | 3 | 9 |60 | 3 o7
L M2.2x0.45x 60 1C1 | 1C | 1 9 | e0 | 3 M2.2x0.25x 60 37 | 3C | 7 | 9 | 60 | 3 M2.2x0.25x 80 3C1 | 3C | 1 9 | 80 | 3 M2.3x0.25x 60 B4 B | 4 | 9 | 60 | 3 L
4 M2.2x0.45x 60 1c2 | 1C | 2 | 9 | 60 | 3 M2.2x0.26x 60 3c8 | 3C | 8 | 9 | 60 | 3 M2.2x0.25x 80 3c2 | 3C | 2 | 9 | 80 | 3 M2.3x0.25x 60 B5 B | 5 | 9 | 60 | 3 J
||‘ M2.2x0.45x 60 13 | 1C | 3 | 9 | 60 | 3 M2.2x0.26x 60 3c9 | 3C | 9 | 9 | 60 | 3 M2.2x0.25x 80 3c3 | 3C | 3 | 9 | 80 | 3 M2.3x0.25x 60 B6 B | 6 | 9 | 60 | 3 IT
C M2.2x0.45x 60 1c4 | 1c | 4 | 9 | 60 | 3 M2.2x0.25x 60 P1 P 1 9 | e0 | 3 M2.2x0.25x 80 3C4 | 3C | 4 | 9 | 80 | 3 M2.3x0.25x 60 B7 B | 7 | 9 | 60 | 3 o
M2.2x0.45x 60 1C5 | 1C | 5 | 9 | 60 | 3 M2.2x0.25x 60 P2 P | 2 | o | 60 | 3 M2.2x0.25x 80 305 | 3C | 5 | © | 80 | a M2.3x0.26x 60 B8 B | 8 | 9 | 60 | 3
M2.2x0.45x 60 1C6 | 1C | 6 | 9 | 60 | 3 M2.2x0.25x 60 P3 P | 3 | o9 | 60 | 3 M2.2x0.25x 80 3C6 | 3C | 6 | © | 80 | 3 M2.3x0.25x 60 B9 B | 9 | 9 |60 | 3
M2.2x0.45x 60 1C7 | 1C | 7 | 9 | 60 | 3 M2.2x0.25x 60 P4 P | 4 | 9 | 60 | 3 M2.2x0.25x 80 3C7 | 3C | 7 | 9 | 80 | 3 M2.3x0.25x 60 3C1 | 3C | 1 9 | 60 | 3
M2.2x0.45x 60 18 | 1C | 8 | 9 | 60 | 3 M2.2x0.25x 60 P5 P | 5 | 9 | 60 | 3 M2.2x0.25x 80 3c8 | 3C | 8 | 9 | 80 | 3 M2.3x0.25x 60 3c2 | 3C | 2 | 9 | 60 | 3
M2.2x0.45x 60 18 | 1C | 9 | 9 | 60 | 3 M2.2x0.25x 60 P6 P | 6 | 9 | 60 | 3 M2.2x0.25x 80 3c9 | 3C | 9 | 9 | 80 | 3 M2.3x0.25x 60 3c3 | 3C | 3 | 9 | 60 | 3
M2.2x0.45x 60 B1 B 1 s | e0 | 3 M2.2x0.25x 60 P7 P | 7 | o | 60 | 3 M2.2x0.25x 80 P1 P 1 9 | 80 | 3 M2.3x0.25x 60 3C4 | 3C | 4 | 9 | 60 | 3
M2.2x0.45x 60 B2 B | 2 | 9 | 60 | 3 M2.2x0.25x 60 P8 P | 8 | 9 | 60 | 3 M2.2x0.25x 80 P2 P | 2 | 9 | 80 | 3 M2.3x0.25x 60 305 | 3C | 5 | 9 | 60 | 3
M2.2x0.45x 60 B3 B | 3 | 9 | 60 | 3 M2.2x0.25x 60 P9 P | 9 | 9 | 60 | 3 M2.2x0.25x 80 P3 P | 3 | 9 | 80 | 3 M2.3x0.25x 60 3C6 | 3C | 6 | 9 | 60 | 3
M2.2x0.45x 60 B4 B | 4 | 9 | 60 | 3 M2.2x0.45x 80 1C1 | 1C | 1 9 | 80 | 3 M2.2x0.25x 80 P4 P | 4 | 9 | 80 | 3 M2.3x0.25x 60 3C7 | 3C | 7 | 9 | 60 | 3
M2.2x0.45x 60 B5 B | 56 | 9 | 60 | 3 M2.2x0.45x 80 1c2 | 1C | 2 | 9 | 80 | 3 M2.2x0.25x 80 P5 P | 5 | 9 | 80| 3 M2.3x0.25x 60 3c8 | 3C | 8 | 9 | 60 | 3
M2.2x0.45x 60 B6 B | 6 | 9 | 60 | 3 M2.2x0.45x 80 1c3 | 1C | 3 | 9 | 80 | 3 M2.2x0.25x 80 P6 P | 6 | 9 | 80| 3 M2.3x0.25x 60 3c9 | 3C | 9 | 9 | 60 | 3
M2.2x0.45x 60 B7 B | 7 | o | 60 | 3 M2.2x0.45x 80 1c4 | 1c | 4 | 9 | 80 | 3 M2.2x0.25x 80 P7 P | 7 | 9 | 80 | 3 M2.3x0.25x 60 P1 P 1 9 | 60 | 3
M2.2x0.45x 60 BS B | 8 | 9 | 60 | 3 M2.2x0.45x 80 1C5 | 1c | 5 | 9 | 80 | 3 M2.2x0.25x 80 P8 P | 8 | 9 | 80 | 3 M2.3x0.25x 60 P2 P | 2 | 9 | 60 | 3
M2.2x0.45x 60 B9 B | 9 | 9 | 60 | 3 M2.2x0.45x 80 16 | 1C | 6 | 9 | 80 | 3 M2.2x0.25x 80 P9 P | 9 | 9 | 80| 3 M2.3x0.25x 60 P3 P | 3 | 9 |60 | 3
M2.2x0.45x 60 3C1 | 3C | 1 s | e0 | 3 M2.2x0.45x 80 167 | 1C | 7 | 9 | 80 | 3 M2.3x0.4 x 60 1C1 | 1C | 1 9 | 60 | 3 M2.3x0.25x 60 P4 P | 4 | 9 | 60 | 3
M2.2x0.45x 60 3c2 | 3C | 2 | 9 | 60 | 3 M2.2x0.45x 80 1c8 | 1C | 8 | 9 | 80 | 3 M2.3x0.4 x 60 1c2 | 1C | 2 | 9 | 60 | 3 M2.3x0.25x 60 PS5 P | 5 | 9 [0 | 3
M2.2x0.45x 60 33 | 3C | 3 | 9 | 60 | 3 M2.2x0.45x 80 1c8 | 1C | 9 | 9 | 80 | 3 M2.3x0.4 x 60 1C3 | 1C | 38 | 9 | 60 | 3 M2.3x0.25x 60 P6 P | 6 | 9 | 60 | 3
M2.2x0.45x 60 3c4 | 3C | 4 | 9 | 60 | 3 M2.2x0.45x 80 B1 B 1 s | s | 3 M2.3x0.4 x 60 1c4 | 1C | 4 | 9 | 60 | 3 M2.3x0.25x 60 P7 P | 7 | 9 |60 | 3
M2.2x0.45x 60 3C5 | 3C | 5 | 9 | 60 | 3 M2.2x0.45x 80 B2 B | 2 | 9 | 80 | 3 M2.3x0.4 x 60 1C5 | 1C | 5 | © | 60 | 8 M2.3x0.25x 60 P8 P | 8 | 9 | 60 | 3
M2.2x0.45x 60 3C6 | 3C | 6 | 9 | 60 | 3 M2.2x0.45x 80 B3 B | 3 | 9 | 80 | 3 M2.3x0.4 x 60 1C6 | 1C | 6 | 9 | 60 | 3 M2.3x0.25x 60 P9 P | 9 | 9 |60 | 3
M2.2x0.45x 60 367 | 3C | 7 | 9 | 60 | 3 M2.2x0.45x 80 B4 B | 4 | 9 | 80 | 3 M2.3x0.4 x 60 1C7 | 1C | 7 | 9 | 60 | 3 M2.3x0.4 x 80 1C1 | 1C | 1 9 | 80 | 3
M2.2x0.45x 60 3c8 | 3C | 8 | 9 | 60 | 3 M2.2x0.45x 80 B5 B | 5 | 9 | 80 | 3 M2.3x0.4 x 60 1c8 | 1C | 8 | 9 | 60 | 3 M2.3x0.4 x 80 1c2 | 1C | 2 | 9 | 80 | 3
M2.2x0.45x 60 39 | 3C | 9 | 9 | 60 | 3 M2.2x0.45x 80 B6 B | 6 | 9 | 80 | 3 M2.3x0.4 x 60 1C9 | 1C | 9 | 9 | 60 | 3 M2.3x0.4 x 80 1c3 | 1C | 38 | 9 | 80 | 3
M2.2x0.45x 60 P1 P 1 9 | 60 | 3 M2.2x0.45x 80 B7 B | 7 | o | 80 | 3 M2.3x0.4 x 60 B1 B 1 9 | 60 | 3 M2.3x0.4 x 80 1c4 | 1C | 4 | 9 | 80 | 3
M2.2x0.45x 60 P2 P | 2 | 9 | 60 | 3 M2.2x0.45x 80 BS B | 8 | 9 | 80 | 3 M2.3x0.4 x 60 B2 B | 2 | 9 | 60 | 3 M2.3x0.4 x 80 15 | 1C | 5 | 9 | 80 | 3
M2.2x0.45x 60 P3 P | 3 | o | 60| 3 M2.2x0.45x 80 B9 B | 9 | 9 | 80 | 3 M2.3x0.4 x 60 B3 B | 3 | 9 |60 | 3 M2.3x0.4 x 80 1C6 | 1C | 6 | 9 | 80 | 3
M2.2x0.45x 60 P4 P | 4 | 9 | e0 | 3 M2.2x0.45x 80 3C1 | 3C | 1 s | s | 3 M2.3x0.4 x 60 B4 B | 4 | 9 | 60 | 3 M2.3x0.4 x 80 1C7 | 1C | 7 | 9 | 80 | 3
M2.2x0.45x 60 P5 P | 5 | 9 | 60 | 3 M2.2x0.45x 80 3c2 | 3C | 2 | 9 | 80 | 3 M2.3x0.4 x 60 B5 B | 5 | 9 | 60 | 3 M2.3x0.4 x 80 1c8 | 1C | 8 | 9 | 80 | 3
M2.2x0.45x 60 P6 P | 6 | 9 | 60 | 3 M2.2x0.45x 80 3c3 | 3C | 3 | 9 | 80 | 3 M2.3x0.4 x 60 B6 B | 6 | 9 | 60 | 3 M2.3x0.4 x 80 1Cc9 | 1C | © | 9 | 80 | 3
M2.2x0.45x 60 P7 P | 7 | o | 60 | 3 M2.2x0.45x 80 3c4 | 3C | 4 | 9 | 80 | 3 M2.3x0.4 x 60 B7 B | 7 | 9 | 60 | 3 M2.3x0.4 x 80 B1 B 1 9 | 80 | 3
M2.2x0.45x 60 P8 P | 8 | 9 | 60 | 3 M2.2x0.45x 80 3C5 | 3C | 5 | 9 | 80 | 3 M2.3x0.4 x 60 B8 B | 8 | 9 | 60 | 3 M2.3x0.4 x 80 B2 B | 2 | 9 | 80 | 3
M2.2x0.45x 60 P9 P | 9 | o | 60| 3 M2.2x0.45x 80 3C6 | aC | 6 | 9 | 80 | 3 M2.3x0.4 x 60 B9 B | 9 | 9 | 60| 3 M2.3x0.4 x 80 B3 B | 3 | 9 | 80 | 3




ITY L wbh-C i1 TAFLET-C IT9 L wh-C i1 TAFLET-C

#ME:HSSE FREWIE:C #ME:HSSE FREUUE:C

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

s
IT-TF-COYY RIERILS 7
P e tw g
| —— s B 211 (um) 6al- U EvF 2R BIEE| BfY TEE IR 2R R U EvF 2R BIEE| BfY TEE AR 2R it
3C | 3uW . M2.5x0.35x 60 3C7 | 3C 7 10 | 60 3 M2.5x0.35x 80 3C1 3C 1 10 | 80 3
- P | aw % M2.5x0.35x 60 3C8 | 3C | 8 | 10 | 60 | 3 M2.5x0.35x 80 3c2 | 3C | 2 | 10 | 80 | 3 "
oB% o M2.5x0.35x 60 3Cc9 | 3C | © | 10 | 60 | 3 M2.5x0.35x 80 33 | 3C | 3 | 10 | 80 | 3 BX 38
2k e M2.5x0.35x 60 P1 P [ 1 |10 |60 | 3 M2.5x0.35x 80 3c4 | 3C | 4 | 10 | 80 | 3 =
=¥ o N i = I N i - M2.5x0.35x 60 P2 P | 2 | 10 | 60 | 3 M2.5x0.35x 80 3C5 | 3C | 5 | 10 | 80 | 3 FS
%g U EvF 2R BIMEE| Bf e IR 2R R FU  EvF 2R BMEE| Bf HEE IR 2R ites e GE Eo P 3 0 80 3 o e S 30 B 0 80 3 g%
=) [m23x04 x 80 B4 B | 4 | 9 | 80 | 3 M2.5x0.45x 60 1c1_| 1C | 1 | 10 | 60 | 3 M2.5x0.35x 60 P4 P | 4 | 10 | 60 | 3 M2.5x0.35x 80 3C7 | 3C | 7 | 10 | 80 | 3 > o
5] |[Mm23x04 x 80 BS B | 5 | 9 | 80 | 3 M2.5x0.45x 60 1c2 | 1C | 2 | 10 | 60 | 3 M2.5x0.35x 60 P5 P | 5 | 10 | 60 | 3 M2.5x0.35x 80 3C8 | 3C | 8 | 10 | 80 | 3 53
4| | mM23x04 x 80 B B | 6 | 9 | 80 | 3 M2.5x0.45x 60 1C3 | 1C | 3 | 10 | 60 | 3 M2.5x0.35x 60 P6 P | 6 | 10 | 60 | 3 M2.5x0.35x 80 3c9 | 3C | 9 | 10 | 80 | 3 20
33 M2.3x0.4 x 80 B7 B | 7 | 9 | 80 | 3 M2.5x0.45x 60 1c4 | 1C | 4 | 10 | 60 | 3 M2.5x0.35x 60 P7 P | 7 | 10 | 60 | 3 M2.5x0.35x 80 P1 P 1 10 | 80 | 3 £3
~ 7, | m23x04 x s0 BB B | 8 | 9 | 80 | 3 M2.5x0.45x 60 1C5 | 1C | 5 | 10 | 60 | 3 M2.5x0.35x 60 P8 P | 8 | 10 | 60 | 3 M2.5x0.35x 80 P2 P | 2 | 10 | 80 | 3 0
m Y M2.3x0.4 x 80 B9 B | 9 | 9 | 80 | 3 M2.5x0.45x 60 1C6 | 1C | 6 | 10 | 60 | 3 M2.5x0.35x 60 P9 P | 9 | 10 | 60 | 3 M2.5x0.35x 80 P3 P | 3 | 10 | 80 | 3 =
</00 | 'M23x0.4 x 80 3c1 | 3C | 1 9 | 80 | 3 M2.5x0.45x 60 1C7 | 1C | 7 | 10 | 60 | 3 M2.5x0.45x 80 1C1 | 1C | 1 10 | 80 | 3 M2.5x0.35x 80 P4 P | 4 | 10 | 80 | 3 E3
M2.3x0.4 x 80 3c2 | 3C | 2 | 9 | 80 | 3 M2.5x0.45x 60 1c8 | 1C | 8 | 10 | 60 | 3 M2.5x0.45x 80 1c2 | 1C | 2 | 10 | 80 | 3 M2.5x0.35x 80 P5 P | 5 | 10 | 80 | 3
wgs [M2ax04 xsoscs | o | 5 [ s (80 | 3 M2.5x0.45x 60 1C8 | 1C | 9 | 10 | 60 | 3 M2.5x0.45x 80 1c3 | 1C | 3 | 10 | 80 | 3 M2.5x0.35x 80 P6 P | 6 | 10 | 80 | 3 =%
S M2.3x0.4 x 80 3c4 | aC | 4 | 9 | 80 | 3 M2.5x0.45% 60 B1 B 1 | 10 | 60 | 3 M2.5x0.45x 80 1c4 | 1C | 4 | 10 | 80 | 3 M2.5x0.35x 80 P7 P | 7 | 10 | 80 | 3 S
@Fa M2.3x0.4 x 80 3c5 | 3 | 5 | 9 | 80 | 3 M2.5x0.45x 60 B2 B | 2 | 10 | 60 | 3 M2.5x0.45x 80 1C5 | 1C | 5 | 10 | 80 | 3 M2.5x0.35x 80 P8 P | 8 |10 [ 80 | 3 Fﬂ@
@=ff |wm23x04 x80 3c6 | 3c | 6 | 9 | 80 | 3 M2.5x0.45x 60 B3 B | 3 | 10 | 60 | 3 M2.5x0.45x 80 1C6 | 1C | 6 | 10 | 80 | 3 M2.5x0.35x 80 P9 P | 9 | 10 | 80 | 3 [E =
Sff |mM23x04 x80 3c7 | ac | 7 | 9 | 80 | 3 M2.5x0.45x 60 B4 B | 4 | 10 | 60 | 3 M2.5x0.45x 80 1C7 | 1C | 7 | 10 | 80 | 3 M2.6x0.45x 60 1C1 | 1C | 1 10 | 60 | 3 T
B |Me3x04 x80acs | 3c | 8 | 9 | 80 | 3 M2.5x0.45x 60 B5 B | 5 | 10 | 60 | 3 M2.5x0.45x 80 1c8 | 1C | 8 | 10 | 80 | 3 M2.6x0.45x 60 1c2 | 1C | 2 | 10 | 60 | 3 BES
Sz |Ma3x04 xso3ce | ac | o | 9 [ 80 | 3 M2.5x0.45x 60 B6 B | 6 | 10 | 60 | 3 M2.5x0.45x 80 1c9 | 1C | © | 10 | 80 | 3 M2.6x0.45x 60 1C3 | 1C | 3 | 10 | 60 | 3 *xo
= M2.3x0.4 x 80 PI P 1 9 | s | 3 M2.5x0.45% 60 B7 B | 7 | 10 | 60 | 3 M2.5x0.45x 80 B1 B 1 10 | 80 | 3 M2.6x0.45x 60 1C4 | 1C | 4 | 10 | 60 | 3 =
= M2.3x0.4 x 80 P2 P | 2 | o | 80 | 3 M2.5x0.45x 60 B8 B | 8 | 10 | 60 | 3 M2.5x0.45x 80 B2 B | 2 | 10 | 80 | 3 M2.6x0.45x 60 1C5 | 1C | 5 | 10 | 60 | 3 =
e M2.3x0.4 x 80 P3 P | 3 | 9 | 80 | 3 M2.5x0.45x 60 B9 B | 9 | 10 | 60 | 3 M2.5x0.45x 80 B3 B | 3 | 10 | 80 | 3 M2.6x0.45x 60 1C6 | 1C | 6 | 10 | 60 | 3 =
S M2.3x0.4 x 80 P4 P | 4 | 9 | 80| 3 M2.5x0.45x 60 3C1 | 3C | 1 | 10 | 60 | 3 M2.5x0.45x 80 B4 B | 4 | 10 | 80 | 3 M2.6x0.45x 60 1C7 | 1C | 7 | 10 | 60 | 3 S
_ | mM23x0.4 x 80 P5 P | 5 | 9 | 80| 3 M2.5x0.45x 60 3C2 | 3C | 2 | 10 | 60 | 3 M2.5x0.45x 80 B5 B | 5 | 10 | 80 | 3 M2.6x0.45x 60 1c8 | 1C | 8 | 10 | 60 | 3 _
| 7 [wm23x04 x 80 P6 P | 6 | 9 | 80| 3 M2.5x0.45x 60 3c3 | 3C | 3 | 10 | 60 | 3 M2.5x0.45x 80 B6 B 6 | 10 | 80 | 3 M2.6x0.45x 60 1c9 | 1C | 9 | 10 | 60 | 3 =
T> | M23x04 x 80 P7 P | 7 | o | 80 | 3 M2.5x0.45x 60 3c4 | 3C | 4 | 10 | 60 | 3 M2.5x0.45x 80 B7 B | 7 | 10 | 80 | 3 M2.6x0.45x 60 B1 B 1 10 | 60 | 3 =T
Fh | m23x04 x 80 P8 P | 8 | 9 | 80 | 3 M2.5x0.45x 60 3C5 | 3C | 5 | 10 | 60 | 3 M2.5x0.45x 80 B8 B | 8 | 10 | 80 | 3 M2.6x0.45x 60 B2 B | 2 | 10 | 60 | 3 n&
75 [ ma23x04 x 80 P9 P | 9 | 9 | 80 | 3 M2.5x0.45x 60 3C6 | 3C | 6 | 10 | 60 | 3 M2.5x0.45x 80 B9 B | 9 | 10 | 80 | 3 M2.6x0.45x 60 B3 B | 3 | 10 | 60 | 3 o7
% M2.3x0.25x 80 1C1 | 1C | 1 9 | 80 | 3 M2.5x0.45x 60 3C7 | 3C | 7 | 10 | 60 | 3 M2.5x0.45x 80 3C1 | 3C | 1 10 | 80 | 3 M2.6x0.45x 60 B4 B | 4 | 10 | 60 | 3 L
b M2.3x0.25x 80 1c2 | 1C | 2 | 9 | 80 | 3 M2.5x0.45x 60 3c8 | 3C | 8 | 10 | 60 | 3 M2.5x0.45x 80 3c2 | 3C | 2 | 10 | 80 | 3 M2.6x0.45x 60 B5 B | 5 | 10 | 60 | 3 Y
||‘ M2.3x0.25x 80 1C3 | 1C | 3 | 9 | 80 | 3 M2.5x0.45x 60 39 | 3C | 9 | 10 | 60 | 3 M2.5x0.45x 80 3c3 | 3C | 3 | 10 | 80 | 3 M2.6x0.45x 60 B6 B 6 | 10 | 60 | 3 IT
C M2.3x0.25x 80 1c4 | 1c | 4 | 9 | 80 | 3 M2.5x0.45% 60 P1 P 1 | 10 | 60 | 3 M2.5x0.45x B0 3C4 | 3C | 4 | 10 | 80 | 3 M2.6x0.45x 60 B7 B | 7 | 10 | 60 | 3 o
M2.3x0.25x 80 1C5 | 1C | 5 | 9 | 80 | 3 M2.5x0.45x 60 P2 P | 2 | 10 | 60 | 3 M2.5x0.45x 80 305 | 3C | 5 | 10 | 80 | 3 M2.6x0.45x 60 B8 B | 8 | 10 | 60 | 3
M2.3x0.25x 80 16 | 1C | 6 | 9 | 80 | 3 M2.5x0.45x 60 P3 P | 3 | 10 | 60 | 3 M2.5x0.45x 80 3C6 | 3C | 6 | 10 | 80 | 3 M2.6x0.45x 60 B9 B | 9 | 10 |60 | 3
M2.3x0.25x 80 167 | 1C | 7 | 9 | 80 | 3 M2.5x0.45x 60 P4 P | 4 | 10 | 60 | 3 M2.5x0.45x 80 3C7 | 3C | 7 | 10 | 80 | 3 M2.6x0.45x 60 3C1 | 3C | 1 10 | 60 | 3
M2.3x0.26x 80 1c8 | 1C | 8 | 9 | 80 | 3 M2.5x0.45x 60 P5 P | 5 | 10 | 60 | 3 M2.5x0.45x 80 3C8 | 3C | 8 | 10 | 80 | 3 M2.6x0.45x 60 3c2 | 3C | 2 | 10 | 60 | 3
M2.3x0.25x 80 1c8 | 1C | 9 | 9 | 80 | 3 M2.5x0.45% 60 P6 P | 6 | 10 | 60 | 3 M2.5x0.45x 80 3c9 | 3C | 9 | 10 | 80 | 3 M2.6x0.45x 60 33 | 3C | 3 | 10 | 60 | 3
M2.3x0.25x 80 B1 B 1 9 | s | 3 M2.5x0.45X 60 P7 P | 7 | 10 | 60 | 3 M2.5x0.45x 80 P1 P 1 10 | 80 | 3 M2.6x0.45x 60 3C4 | 3C | 4 | 10 | 60 | 3
M2.3x0.25x 80 B2 B | 2 | 9 | 80 | 3 M2.5x0.45x 60 P8 P | 8 | 10| 60 | 3 M2.5x0.45x 80 P2 P | 2 | 10 | 80 | 3 M2.6x0.45x 60 3C5 | 3C | 5 | 10 | 60 | 3
M2.3x0.25x 80 B3 B | 3 | 9 | 80 | 3 M2.5x0.45x 60 P9 P | 9 | 10 | 60 | 3 M2.5x0.45x 80 P3 P | 3 | 10 | 80 | 3 M2.6x0.45x 60 3C6 | 3C | 6 | 10 | 60 | 3
M2.3x0.25x 80 B4 B | 4 | 9 | 80 | 3 M2.5x0.36x 60 1C1_| 1C | 1 | 10 | 60 | 3 M2.5x0.45x 80 P4 P | 4 | 10 | 80 | 3 M2.6x0.45x 60 3C7 | 3C | 7 | 10 | 60 | 3
M2.3x0.25x 80 B5 B | 5 | 9 | 80 | 3 M2.5x0.35x 60 1C2 | 1C | 2 | 10 | 60 | 3 M2.5x0.45x 80 P5 P | 5 | 10 | 80 | 3 M2.6x0.45x 60 3c8 | 3C | 8 | 10 | 60 | 3
M2.3x0.25x 80 B6 B | 6 | 9 | 80 | 3 M2.5x0.36x 60 1C3 | 1C | 3 | 10 | 60 | 3 M2.5x0.45x 80 P6 P | 6 | 10 | 80 | 3 M2.6x0.45x 60 3Cc9 | 3C | 9 | 10 | 60 | 3
M2.3x0.25x 80 B7 B | 7 | o | 80 | 3 M2.5x0.35x 60 1c4 | 1C | 4 | 10 | 60 | 3 M2.5x0.45x 80 P7 P | 7 | 10 | 80 | 3 M2.6x0.45x 60 P1 P 1 10 | 60 | 3
M2.3x0.25x 80 BS B | 8 | 9 | 80 | 3 M2.5x0.35x 60 1C5 | 1C | 5 | 10 | 60 | 3 M2.5x0.45x 80 P8 P | 8 | 10 | 80 | 3 M2.6x0.45x 60 P2 P | 2 | 10 | 60 | 3
M2.3x0.25x 80 B9 B | 9 | 9 | 80 | 3 M2.5x0.35x 60 1C6 | 1C | 6 | 10 | 60 | 3 M2.5x0.45x 80 P9 P | 9 | 10 | 80 | 3 M2.6x0.45x 60 P3 P | 3 | 10 | 60 | 3
M2.3x0.25x 80 3C1 | 3C | 1 9 | 80 | 3 M2.5x0.36x 60 1C7 | 1C | 7 | 10 | 60 | 3 M2.5x0.36x 80 1C1 | 1C | 1 10 | 80 | 3 M2.6x0.45x 60 P4 P | 4 | 10 | 60 | 3
M2.3x0.25x 80 3c2 | 3C | 2 | 9 | 80 | 3 M2.5x0.35x 60 1C8 | 1C | 8 | 10 | 60 | 3 M2.5x0.35x 80 1c2 | 1C | 2 | 10 | 80 | 3 M2.6x0.45x 60 PS5 P | 5 | 10 | 60 | 3
M2.3x0.25x 80 3c3 | 3C | 3 | 9 | 80 | 3 M2.5x0.35x 60 1c8 | 1C | 9 | 10 | 60 | 3 M2.5x0.35x 80 1C3 | 1C | 3 | 10 | 80 | 3 M2.6x0.45x 60 P6 P | 6 | 10 | 60 | 3
M2.3x0.25x 80 3c4 | 3C | 4 | 9 | 80 | 3 M2.5x0.35X 60 B1 B 1 | 10 | 60 | 3 M2.5x0.35x 80 1c4 | 1C | 4 | 10 | 80 | 3 M2.6x0.45x 60 P7 P | 7 | 10 | e0 | 3
M2.3x0.25x 80 3C5 | 3C | 5 | 9 | 80 | 3 M2.5x0.35x 60 B2 B | 2 | 10 | 60 | 3 M2.5x0.35x 80 1C5 | 1C | 5 | 10 | 80 | 8 M2.6x0.45x 60 P8 P | 8 | 10 | 60 | 3
M2.3x0.25x 80 36 | 3C | 6 | 9 | 80 | 3 M2.5x0.35x 60 B3 B | 3 | 10 | 60 | 3 M2.5x0.35x 80 1C6 | 1C | 6 | 10 | 80 | 3 M2.6x0.45x 60 P9 P | 9 | 10 |60 | 3
M2.3x0.25x 80 367 | 3C | 7 | 9 | 80 | 3 M2.5x0.35x 60 B4 B | 4 | 10 | 60 | 3 M2.5x0.35x 80 1C7 | 1C | 7 | 10 | 80 | 3 M2.6x0.36x 60 1C1 | 1C | 1 10 | 60 | 3
M2.3x0.265x 80 3c8 | 3C | 8 | 9 | 80 | 3 M2.5x0.35x 60 B5 B | 5 | 10 | 60 | 3 M2.5x0.35x 80 1c8 | 1C | 8 | 10 | 80 | 3 M2.6x0.35x 60 1c2 | 1C | 2 | 10 | 60 | 3
M2.3x0.25x 80 3c9 | 3C | 9 | 9 | 80 | 3 M2.5x0.35x 60 B6 B | 6 | 10 | 60 | 3 M2.5x0.35x 80 1C9 | 1C | 9 | 10 | 80 | 3 M2.6x0.35x 60 1C3 | 1C | 3 | 10 | 60 | 3
M2.3x0.25x 80 P1 P 1 9 | 80 | 3 M2.5x0.35x 60 B7 B | 7 | 10 | 60 | 3 M2.5x0.35x 80 B1 B 1 10 | 80 | 3 M2.6x0.35x 60 1C4 | 1C | 4 | 10 | 60 | 3
M2.3x0.25x 80 P2 P | 2 | 9 | 80 | 3 M2.5x0.35x 60 B8 B | 8 | 10 | 60 | 3 M2.5x0.35x 80 B2 B | 2 | 10 | 80 | 3 M2.6x0.35x 60 1C5 | 1C | 5 | 10 | 60 | 3
M2.3x0.25x 80 P3 P | 3 | o9 | 80 | 3 M2.5x0.35x 60 B9 B | 9 | 10 | 60 | 3 M2.5x0.35x 80 B3 B | 3 | 10 | 80 | 3 M2.6x0.35x 60 1C6 | 1C | 6 | 10 | 60 | 3
M2.3x0.25x 80 P4 P | 4 | 9 | 80| 3 M2.5x0.35x 60 3C1 | 3C | 1 | 10 | 60 | 3 M2.5x0.35x 80 B4 B | 4 | 10 | 80 | 3 M2.6x0.35x 60 1C7 | 1C | 7 | 10 | 60 | 3
M2.3x0.25x 80 P5 P | 5 | o9 | 80| 3 M2.5x0.365x 60 3c2 | 3C | 2 | 10 | 60 | 3 M2.5x0.35x 80 B5 B 5 | 10 | 80 | 3 M2.6x0.35x 60 1C8 | 1C | 8 | 10 | 60 | 3
M2.3x0.25x 80 P6 P | 6 | 9 | 80| 3 M2.5x0.36x 60 3c3 | 3C | 3 | 10 | 60 | 3 M2.5x0.35x 80 B6 B 6 | 10 | 80 | 3 M2.6x0.35x 60 1C9 | 1C | 9 | 10 | 60 | 3
M2.3x0.25x 80 P7 P | 7 | 9 | 80 | 3 M2.5x0.35x 60 3c4 | 3C | 4 | 10 | 60 | 3 M2.5x0.35x 80 B7 B | 7 | 10 | 80 | 3 M2.6x0.35x 60 B1 B 1 10 | 60 | 3
M2.3x0.25x 80 P8 P | 8 | 9 | 80| 3 M2.5x0.35x 60 3C5 | 3C | 5 | 10 | 60 | 3 M2.5x0.35x 80 B8 B | 8 | 10 | 80 | 3 M2.6x0.35x 60 B2 B | 2 | 10 | 60 | 3
M2.3x0.25x 80 P9 P | 9 | o | 8 | 3 M2.5x0.35x 60 3C6 | 3C | 6 | 10 | 60 | 3 M2.5x0.35x 80 B9 B | 9 | 10 | 80 | 3 M2.6x0.35x 60 B3 B | 3 | 10 | 60 | 3




ITY L wbh-C IT TAFLET-C ITYJLwh-C i1 TAFLET-C

#ME:HSSE FREWNIE:C #E8E:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

&Iy FOBEESOEMRLE
IT-TFCOYJ B 2
Mo
14r
s Wi 102
]
e - —— 1C 1 LS
<[ il B | aw BN HO  EvF 2 BMME| BF | BE | IR | 2B | WE G EvF 2E BMME| BF | BE | IR | 2B | WE
3C 3 o M3 x0.5 x 80 3c8 | 3C 8 10 80 | 3 M3 x0.5 x100 3c2 | 3C 2 10 | 100 | 3
o= P 41l 2 M3 x0.5 x 80 3C9 3C 9 10 80 3 M3 x0.5 x100 3C3 3C 3 10 | 100 3 -
OB% LS M3 x0.5 x 80 3c10| 3C | 10 | 10 | 80 | 3 M3 x0.5 x100 3C4 | 3C 4 | 10 [ 100 | 3 EX8
gJ: e M3 x0.5 x 80 P2 P 2 [ 10 | 80| 3 M3 x0.5 x100 3C5 | 3C 5 | 10 [100] 3 J:g
ZF ‘ - 2 ] o | . M3 x0.5 x 80 P3 P 3 | 10 | 80| 3 M3 x0.5 x100 3C6 | 3C 6 | 10 | 100 | 3 T
%g FO  EvF 2k BYEE| BT | BE | IR | 2Rk | @& HO  EvF 2k BRUEE| BT | BE | IR | 2Rk | @R s o mm e P 2 0 80 3 . 3c = 0 100 3 g%
=y M2.6x0.35x 60 B4 B 4 10 [ 60 | 3 M2.6x0.35x 80 1C1 1c 1 10 | 80 | 3 M3 x0.5 x 80 P5 P 5 | 10 | 80| 3 M3 x0.5 x100 3C8 | 3C 8 | 10 | 100 | 3 w
%7 M2.6x0.35x 60 B5 B 5 10 | 60 | 3 M2.6x0.35x 80 1C2 | 1C 2 [ 10 [ 80 | 3 M3 x0.5 x 80 P8 P 6 | 10 | 80 | 3 M3 x0.5 x100 3C9 | 3C 9 [ 10 [ 100 | 3 7%
0= M2.6x0.35x 60 B6 B 6 10 | 60 | 3 M2.6x0.35x 80 1C3 | 1C 3 [ 10 | 80 | 3 M3 x0.5 x 80 P7 P 7 |10 ] 80| 3 M3 x0.5 x100 3C10| 3C | 10 | 10 | 100 | 3 o
qg M2.6x0.35x 60 B7 B 7 10 | 60 | 3 M2.6x0.35x 80 1C4 | 1C 4 | 10 [ 80 | 3 M3 x0.5 x 80 P8 P 8 | 10 | 80| 3 M3 x0.5 x100 P2 P 2 | 10 | 100 | 3 gq
20 M2.6x0.35x 60 B8 B 8 10 | 60 | 3 M2.6x0.35x 80 1C5 | 1C 5 [ 10 | 80 | 3 M3 x0.5 x 80 P9 P 9 | 10 | 80| 3 M3 x0.5 x100 P3 P 3 | 10 [ 100 | 3 0Z
E 4 M2.6x0.35x 60 B9 B 9 10 | 60 | 3 M2.6x0.35x 80 1C6 | 1C 6 | 10 | 80 | 3 M3 x0.5 x 80 P10 P |10 [ 10 [ 80| 3 M3 x0.5 x100 P4 P 4 | 10 [ 100 | 3 i‘{ﬁ
b U M2.6x0.35x 60 3C1 | 3C 1 10 | 60 | 3 M2.6x0.35x 80 1C7 | 1C 7 | 10 [ 8 | 3 M3 x0.35x 80 1C2 | 1C 2 [ 10| 80 | 3 M3 x0.5 x100 P5 P 5 | 10 | 100 | 3 <2
M2.6x0.35x 60 3C2 | 3C | 2 10 | 60 | 3 M2.6x0.35x 80 1C8 | 1C 8 | 10 | 80 | 3 M3 x0.35x 80 1C3 | 1C 3 | 10 | 80| 3 M3 x0.5 x100 P8 P 6 | 10 | 100 | 3
Y1 M2.6x0.35x 60 3C3 | 3C | 3 10 | 60 | 3 M2.6x0.35x 80 1C9 | 1C 9 [ 10 [ 80 | 3 M3 x0.35x 80 1C4 | 1C 4 | 10 | 80| 3 M3 x0.5 x100 P7 P 7 | 10 | 100 | 3 =9
8F3 M2.6x0.35x 60 3C4 | 3C | 4 10 | 60 | 3 M2.6x0.35x 80 B1 B 1 10 | 80 | 3 M3 x0.35x 80 1C5 | 1C 5 | 10 | 80| 3 M3 x0.5 x100 P8 P 8 | 10 | 100 | 3 Fﬂ§
& M2.6x0.35x 60 3C5 | 3C | 5 10 | 60 | 3 M2.6x0.35x 80 B2 B 2 [ 10 [ 80 | 3 M3 x0.35x 80 1C6 | 1C 6 | 10 | 80 | 3 M3 x0.5 x100 P9 P 9 [ 10 [ 100 | 3 a8
S M2.6x0.35x 60 3C6 | 3C | 6 10 | 60 | 3 M2.6x0.35x 80 B3 B 3 [ 10 [ 80 | 3 M3 x0.35x 80 1C7 | 1C 7 | 10 ] 80| 3 M3 x0.5 x100 P10 P |10 | 10 [100] 3 Eg
Yan M2.6x0.35x 60 3C7 | 3C | 7 10 | 60 | 3 M2.6x0.35x 80 B4 B 4 | 10 [ 80 | 3 M3 x0.35x 80 1C8 | 1C 8 | 10 | 80 | 3 M3 x0.35x100 1C2 | 1C 2 | 10 [ 100 | 3 £z
SfE M2.6x0.35x 60 3C8 | 3C | 8 10 | 60 | 3 M2.6x0.35x 80 B5 B 5 | 10 | 80 | 3 M3 x0.35x 80 1C9 | 1C 9 [ 10 ] B8O | 3 M3 x0.35x100 1C3 | 1C 3 | 10 [ 100 | 3 BES
S M2.6x0.35x 60 3C9 | 3C | 9 10 | 60 | 3 M2.6x0.35x 80 B6 B 6 | 10 | 80 | 3 M3 x0.35x 80 1c10| 1C | 10 | 10 | 80 | 3 M3 x0.35x100 1C4 | 1C 4 | 10 [ 100 | 3 x5
2 M2.6x0.35x 60 P1 P 1 10 | 60 | 3 M2.6x0.35x 80 B7 B 7 [ 10 [ 8 | 3 M3 x0.35x 80 B2 B 2 |10 | 80| 3 M3 x0.35x100 1C5 | 1C 5 | 10 | 100 | 3 2
3 M2.6x0.35x 60 P2 P 2 10 | 60 | 3 M2.6x0.35x 80 B8 B 8 | 10 [ 80 | 3 M3 x0.35x 80 B3 B 3 | 10 | 80| 3 M3 x0.35x100 1C6 | 1C 6 | 10 | 100 | 3 s
= M2.6x0.35x 60 P3 P 3 10 | 60 | 3 M2.6x0.35x 80 B9 B 9 [ 10 [ 80 | 3 M3 x0.35x 80 B4 B 4 | 10 | 80| 3 M3 x0.35x100 1C7 | 1C 7 | 10 100 | 3 g
s M2.6x0.35x 60 P4 P 4 10 | 60 | 3 M2.6x0.35x 80 3C1 | 3C 1 10 | 80 | 3 M3 x0.35x 80 B5 B 5 | 10 | 80 | 3 M3 x0.35x100 1C8 | 1C 8 | 10 | 100 | 3 S
_ M2.6x0.35x 60 P5 P 5 10 | 60 | 3 M2.6x0.35x 80 3C2 | 3C 2 [ 10 [ 80 | 3 M3 x0.35x 80 B6 B 6 | 10 | 80 | 3 M3 x0.35x100 1C9 | 1C 9 [ 10 [ 100 | 3 _
| = M2.6x0.35x 60 P6 P 6 10 | 60 | 3 M2.6x0.35x 80 3C3 | 3C 3 [ 10 | 80 | 3 M3 x0.35x 80 B7 B 7 | 10 ] 80 | 3 M3 x0.35x100 1c10| 1C | 10 | 10 | 100 | 3 51
Tx M2.6x0.35x 60 P7 P 7 10 | 60 | 3 M2.6x0.35x 80 3C4 | 3C 4 [ 10 [ 80 | 3 M3 x0.35x 80 B8 B 8 | 10 | 80| 3 M3 x0.35x100 B2 B 2 | 10 | 100 | 3 =T
95 M2.6x0.35x 60 P8 P 8 10 | 60 | 3 M2.6x0.35x 80 3C5 | 3C 5 [ 10 | 80 | 3 M3 x0.35x 80 B9 B 9 [ 10 ] 80| 3 M3 x0.35x100 B3 B 3 | 10 [ 100 | 3 59
s M2.6x0.35x 60 P9 P 9 10 | 60 | 3 M2.6x0.35x 80 3C6 | 3C 6 | 10 | 80 | 3 M3 x0.35x 80 B10 B 10 | 10 | s0o | 3 M3 x0.35x100 B4 B 4 | 10 [ 100 | 3 o/
L M2.6x0.45x 80 1C1 1c 1 10 | 80 | 3 M2.6x0.35x 80 3C7 | 3C 7 |10 [ 8 | 3 M3 x0.35x 80 3C2 | 3C 2 [ 10 | 80| 3 M3 x0.35x100 B5 B 5 | 10 | 100 | 3 L
J M2.6x0.45x 80 1C2 | 1C | 2 10 | 80 | 3 M2.6x0.35x 80 3C8 | 3C 8 | 10 | 80 | 3 M3 x0.35x 80 3C3 | 3C 3 | 10 | 80| 3 M3 x0.35x100 B6 B 6 | 10 | 100 | 3 Y
II‘ M2.6x0.45x 80 1C3 | 1C | 3 10 | 80 | 3 M2.6x0.35x 80 3C9 | 3C 9 [ 10 | 80 | 3 M3 x0.35x 80 3C4 | 3C 4 | 10 | 80 | 3 M3 x0.35x100 B7 B 7 | 10 100 | 3 lT
C M2.6x0.45x 80 1C4 | 1C | 4 10 | 80 | 3 M2.6x0.35x 80 P1 P 1 10 | 80 | 3 M3 x0.35x 80 3C5 | 3C 5 | 10 | 80 | 3 M3 x0.35x100 B8 B 8 | 10 | 100 | 3 C
M2.6x0.45x 80 1C5 | 1C | 5 10 | 80 | 3 M2.6x0.35x 80 P2 P 2 [ 10 [ 80 | 3 M3 x0.35x 80 3C6 | 3C 6 | 10 | 80| 3 M3 x0.35x100 B9 B 9 [ 10 [ 100 | 3
M2.6x0.45x 80 1C6 | 1C | 6 10 | 80 | 3 M2.6x0.35x 80 P3 P 3 [ 10 [ 80 | 3 M3 x0.35x 80 3C7 | 3C 7 | 10| 8| 3 M3 x0.35x100 B10 B 10 | 10 [ 100 ]| 3
M2.6x0.45x 80 1C7 | 1C | 7 10 | 80 | 3 M2.6x0.35x 80 P4 P 4 | 10 [ 80 | 3 M3 x0.35x 80 3C8 | 3C 8 | 10 | 80 | 3 M3 x0.35x100 3C2 | 3C 2 | 10 | 100 | 3
M2.6x0.45x 80 1C8 | 1C | 8 10 | 80 | 3 M2.6x0.35x 80 P5 P 5 | 10 | 80 | 3 M3 x0.35x 80 3C9 | 3C 9 | 10| 80| 3 M3 x0.35x100 3C3 | 3C 3 | 10 [ 100 | 3
M2.6x0.45x 80 1C9 | 1C | 9 10 | 80 | 3 M2.6x0.35x 80 P6 P 6 | 10 | 80 | 3 M3 x0.35x 80 3C10| 3C | 10 | 10 | 80 | 3 M3 x0.35x100 3C4 | 3C 4 | 10 | 100 | 3
M2.6x0.45x 80 BI B 1 10 | 80 | 3 M2.6x0.35x 80 P7 P 7 [ 10 [ s | 3 M3 x0.35x 80 P2 P 2 |10 | 80| 3 M3 x0.35x100 3C5 | 3C 5 | 10 | 100 | 3
M2.6x0.45x 80 B2 B 2 10 | 80 | 3 M2.6x0.35x 80 P8 P 8 | 10 [ 80 | 3 M3 x0.35x 80 P3 P 3 [ 10| 8| 3 M3 x0.35x100 3C6 | 3C 6 | 10 | 100 | 3
M2.6x0.45x 80 B3 B 3 10 | 80 | 3 M2.6x0.35x 80 P9 P 9 [ 10 [ 80 | 3 M3 x0.35x 80 P4 P 4 | 10 | 80| 3 M3 x0.35x100 3C7 | 3C 7 | 10 100 | 3
M2.6x0.45x 80 B4 B 4 10 | 80 | 3 M3 x0.5 x 80 1C2 | 1C 2 [ 10 [ 80 | 3 M3 x0.35x 80 P5 P 5 | 10 | 80 | 3 M3 x0.35x100 3C8 | 3C 8 | 10 | 100 | 3
M2.6x0.45x 80 B5 B 5 10 | 80 | 3 M3 x0.5 x 80 1C3 | 1C 3 [ 10 [ 80 | 3 M3 x0.35x 80 P6 P 6 | 10 | 80| 3 M3 x0.35x100 3C9 | 3C 9 | 10 [ 100 | 3
M2.6x0.45x 80 B6 B 6 10 | 80 | 3 M3 x0.5 x 80 1C4 | 1C 4 | 10 [ 80 | 3 M3 x0.35x 80 P7 P 7 | 10 ] 80 | 3 M3 x0.35x100 3C10| 3C | 10 | 10 | 100 | 3
M2.6x0.45x 80 B7 B 7 10 | 80 | 3 M3 x0.5 x 80 1C5 | 1C 5 [ 10 | 80 | 3 M3 x0.35x 80 P8 P 8 | 10 | 80| 3 M3 x0.35x100 P2 P 2 | 10 | 100 | 3
M2.6x0.45x 80 B8 B 8 10 | 80 | 3 M3 x0.5 x 80 1C6 | 1C 6 | 10 | 80 | 3 M3 x0.35x 80 P9 P 9 [ 10 ] 80| 3 M3 x0.35x100 P3 P 3 | 10 | 100 | 3
M2.6x0.45x 80 B9 B 9 10 | 80 | 3 M3 x0.5 x 80 1C7 | 1C 7 | 10 [ 8 | 3 M3 x0.35x 80 P10 P |10 | 10 | so| 3 M3 x0.35x100 P4 P 4 | 10 [ 100 | 3
M2.6x0.45x 80 3C1 | 3C 1 10 | 80 | 3 M3 x0.5 x 80 1C8 | 1C 8 | 10 | 80 | 3 M3 x0.5 x100 1c2 | 1C 2 | 10 | 100 | 3 M3 x0.35x100 P5 P 5 | 10 | 100 | 3
M26x0.45x 80 3C2 | 3C | 2 10 | 80 | 3 M3 x0.5 x 80 1C9 | 1C 9 [ 10 [ 80 | 3 M3 x0.5 x100 1C3 | 1C 3 | 10 [ 100 | 3 M3 x0.35x100 P6 P 6 | 10 | 100 | 3
M2.6x0.45x 80 3C3 | 3C | 3 10 | 80 | 3 M3 x0.5 x 80 1C10| 1C | 10 | 10 | 80 | 3 M3 x0.5 x100 1C4 | 1C 4 | 10 [ 100 | 3 M3 x0.35x100 P7 P 7 | 10 100 | 3
M2.6x0.45x 80 3C4 | 3C | 4 10 | 80 | 3 M3 x0.5 x 80 B2 B 2 [ 10 [ 80 | 3 M3 x0.5 x100 1C5 | 1C 5 | 10 | 100 | 3 M3 x0.35x100 P8 P 8 | 10 | 100 | 3
M2.6x0.45x 80 3C5 | 3C | 5 10 | 80 | 3 M3 x0.5 x 80 B3 B 3 [ 10 [ 80 | 3 M3 x0.5 x100 1C6 | 1C 6 | 10 | 100 | 3 M3 x0.35x100 P9 P 9 | 10 | 100 | 3
M2.6x0.45x 80 3C6 | 3C | 6 10 | 80 | 3 M3 x0.5 x 80 B4 B 4 | 10 [ 80 | 3 M3 x0.5 x100 1C7 | 1C 7 | 10 [ 100 | 3 M3 x0.35x100 P10 P |10 | 10 [100] 3
M2.6x0.45x 80 3C7 | 3C | 7 10 | 80 | 3 M3 x0.5 x 80 B5 B 5 | 10 | 80 | 3 M3 x0.5 x100 1C8 | 1C 8 | 10 | 100 | 3 M3 x0.5 x150 1C2 | 1C 2 | 10 | 150 | 3
M2.6x0.45x 80 3C8 | 3C | 8 10 | 80 | 3 M3 x0.5 x 80 B6 B 6 | 10 | 80 | 3 M3 x0.5 x100 1C9 | 1C 9 | 10 [ 100 | 3 M3 x0.5 x150 1C3 | 1C 3 | 10 | 150 | 3
M2.6x0.45x 80 3C9 | 3C | 9 10 | 80 | 3 M3 x0.5 x 80 B7 B 7 | 10 [ 8 | 3 M3 x0.5 x100 1c10| 1C | 10 | 10 | 100 | 3 M3 x0.5 x150 1C4 | 1C 4 | 10 | 150 | 3
M2.6x0.45x 80 P1 P 1 10 | 80 | 3 M3 x0.5 x 80 B8 B 8 | 10 [ 80 | 3 M3 x0.5 x100 B2 B 2 | 10 | 100 | 3 M3 x0.5 x150 1C5 | 1C 5 | 10 | 150 | 3
M2.6x0.45x 80 P2 P 2 10 | 80 | 3 M3 x0.5 x 80 B9 B 9 [ 1o [ 80 | 3 M3 x0.5 x100 B3 B 3 | 10 | 100 | 3 M3 x0.5 x150 1C6 | 1C 6 | 10 | 150 | 3
M2.6x0.45x 80 P3 P 3 10 | 80 | 3 M3 x0.5 x 80 BI10 B 10 | 10 [ 80 | 3 M3 x0.5 x100 B4 B 4 | 10 [ 100 | 3 M3 x0.5 x150 1C7 | 1C 7 | 10 | 150 | 3
M2.6x0.45x 80 P4 P 4 10 | 80 | 3 M3 x0.5 x 80 3C2 | 3C 2 [ 10 [ 80 | 3 M3 x0.5 x100 BS B 5 | 10 | 100 | 3 M3 x0.5 x150 1C8 | 1C 8 | 10 | 150 | 3
M2.6x0.45x 80 P5 P 5 10 | 80 | 3 M3 x0.5 x 80 3C3 | 3C 3 [ 10 [ 80 | 3 M3 x0.5 x100 B6 B 6 | 10 | 100 | 3 M3 x0.5 x150 1C9 | 1C 9 [ 10 [ 150 | 3
M2.6x0.45x 80 P6 P 6 10 | 80 | 3 M3 x0.5 x 80 3C4 | 3C 4 | 10 [ 80 | 3 M3 x0.5 x100 B7 B 7 | 10 [ 100 | 3 M3 x0.5 x150 1C10| 1C | 10 | 10 | 150 | 3
M2.6x0.45x 80 P7 P 7 10 | 80 | 3 M3 x0.5 x 80 3C5 | 3C 5 [ 10 | 80 | 3 M3 x0.5 x100 B8 B 8 | 10 | 100 | 3 M3 x0.5 x150 B2 B 2 | 10 | 150 | 3
M2.6x0.45x 80 P8 P 8 10 | 80 | 3 M3 x0.5 x 80 3C6 | 3C 6 | 10 | 80 | 3 M3 x0.5 x100 B9 B 9 | 10 | 100 | 3 M3 x0.5 x150 B3 B 3 | 10 | 150 | 3
M2.6x0.45x 80 P9 P 9 10 | 80 | 3 M3 x0.5 x 80 3C7 | 3C 7 | 10 [ 80 | 3 M3 x0.5 x100 B10 B 10 | 10 [ 100 | 3 M3 x0.5 x150 B4 B 4 | 10 [ 150 | 3




ITY L wbh-C IT TAFLET-C ITYLYh-C i1 TAFLET-C

#ME:HSSE FREWNIE:C #E:HSSE FEWIE:C

Tap material Surface treatment Tap material Surface treatment

7w FOREBESDEMNRMIE
IT-TF-C OYS Bt 127
114
i L%k 102
L - - —n 1C T4 g 89p-
1] — b ] g B 21 B HU EvF 2F BREE| BN | BE | IE | 2F | @R HU EyF 2F BREE| BN | BE | IE | 2F | @R
3c | 3w il M3 x0.5 x100 3C4 | aC | 4 0 | 100 | 4 M3 x0.35x150 B4 B ) 0 | 150 | 4
P | 4w 2 M3 x0.5 x100 3C5 | 3C | 5 0 | 100 | 4 M3 x0.35x150 B5 B 5 0 | 150 | 4
3B% e M3 x0.5 x100 3C6 | 3C | 6 0 | 100 | 4 M3 x0.35x150 B6 B 6 0 | 150 | 4 2
I BB M3 x05 x100 3C7 | 3C 7 10 | 100 | 4 M3 x0.35x150 B7 B 7 10 | 150 | 4 J:g
%lf O EvF SE BMWE| B | WmE | IE | 25 | W8 O  EvF 2E BMWE| B | WmE | 9B | 28 | W8 M3 x0.5 x100 368 | SC | 8 | 10 | 100, 4 M3 x0.35x150 B8 B 8 [ 10 150 4 (F=
545 M3 x0.5 x100 3C9 | 3C | © 10 | 100 | 4 M3 x0.35x150 B9 B 9 0 | 150 | 4 55
4y M3 x0.5 x150 B5 B 5 | 10 | 150 | 3 M3 x05 x 80 1C5 | 1C 5 | 10 | 80 | 4 M3 x0.5 x100 P4 P a 0 | 100 | 4 M3 x0.35x150 3C4 | 3C | 4 0 | 150 | 4 >
5] |3 xo5 xi50 86 B 6 | 10 | 150 | 3 M3 x0.5 x 80 1C6 | 1C 6 | 10 | 80 | 4 M3 x0.5 x100 P5 P 5 0 | 100 | 4 M3 x0.35x150 3C5 | 3C | 5 0 | 150 | 4 7%
= M3 x0.5 x150 B7 B 7 | 10 | 150 | 3 M3 x0.5 x 80 1C7 | 1C 7 [ 10 | 80 | & M3 x0.5 x100 P8 P 6 0 | 100 | 4 M3 x0.35x150 3C6 | 3C | 6 0 | 150 | 4 ‘3
qg M3 x0.5 x150 BS B 8 | 10 | 150 | 3 M3 x0.5 x 80 B5 B 5 | 10 | 80 | 4 M3 x0.5 x100 P7 P 7 0 | 100 | 4 M3 x0.35x150 3C7 | 3C | 7 0 | 150 | 4 gq
>0 M3 x0.5 x150 B9 B o | 10 | 150 | 3 M3 x0.5 x 80 B6 B 6 | 10 | 80 | 4 M3 x0.5 x100 P8 P 8 0 | 100 | 4 M3 x0.35x150 3C8 | 3C | 8 10 | 150 | 4 0z
E e M3 x0.5 x150 B10 | B | 10 | 10 | 150 | 3 M3 x0.5 x 80 B7 B 7 | 10 | 80 | 4 M3 x0.5 x100 P9 P 9 0 | 100 | 4 M3 x0.35x150 3C9 | 3C | © 0 | 150 | 4 v
Jk M3 x05 x150 3C2 | 3C 2 | 10 | 150 | 3 M3 x0.5 x 80 P5 P 5 | 10 | 80 | 4 M3 x0.35x100 1C4 | 1C | 4 0 | 100 | 4 M3 x0.35x150 P4 P a 0 | 150 | 4 s
M3 x0.5 x150 3C3 | 3C 3 | 10 | 150 | 3 M3 x0.5 x 80 P6 P 6 | 10 | 80 | 4 M3 x0.35x100 1C5 | 1C | 5 0 | 100 | 4 M3 x0.35x150 P5 P 5 10 | 150 | 4
og M3 x05 x150 3c4 | 3 4 | 10 | 150 | 3 M3 x0.5 x 80 P7 P 7 [ 10 | 80 | & M3 x0.35x100 1C6 | 1C | 6 0 | 100 | 4 M3 x0.35x150 PG P 6 0 | 150 | 4 = 1%
S M3 x0.5 x150 3C5 | 3C 5 | 10 | 150 | 3 M3 x0.35x 80 1C5 | 1C 5 | 10 | 80 | 4 M3 x0.35x100 1C7 | 1C | 7 0 | 100 | 4 M3 x0.35x150 P7 P 7 0 | 150 | 4 F3§
@Fﬁ M3 x0.5 x150 3C6 | 3C 6 | 10 | 150 | 3 M3 x0.35x 80 1C6 | 1C 6 | 10 | 80 | 4 M3 x0.35x100 1C8 | 1C | 8 0 | 100 | 4 M3 x0.35x150 P8 P 8 10 | 150 | 4 r._g
=ff | M3 x05 x150 3c7 | 3c 7 [ 10 | 150 | 3 M3 x0.35x 80 1C7 | 1C 7 [ 10 | 80 | 4 M3 x0.35x100 1C9 | 1C | © 0 | 100 | 4 M3 x0.35x150 P9 P 9 0 | 150 | 4 ==
S{E | M3 xo5 x150 3c8 | ac 8 | 10 | 150 | 3 M3 x0.35x 80 B5 B 5 | 10 | 80 | 4 M3 x0.35x100 B4 B a 0 | 100 | 4 M4 x0.7 x 80 1C6 | 1C | 6 0 | 80 | 5 T:Eﬁ
Sk M3 x0.5 x150 3C9 | 3C o | 10 | 150 | 3 M3 x0.35x 80 B6 B 6 | 10 | 80 | 4 M3 x0.35x100 B5 B 5 0 | 100 | 4 M4 x0.7 x 80 1C7 | 1C | 7 0 | 80 | 5 ES
S% [Ma x05 x150 aci0| ac | 10 | 10 | 150 | 3 M3 x0.35x 80 B7 B 7 [ 10 | 80 | a M3 x0.35x100 B6 B 6 0 | 100 | 4 M4 x0.7 x 80 1c8 | 1C | 8 0 | 80 | 5 *o
=] M3 x0.5 x150 P2 P 2 | 10 | 150 | 3 M3 x0.35x 80 P5 P 5 | 10 | 80 | 4 M3 x0.35x100 B7 B 7 0 | 100 | 4 M4 x0.7 x 80 B6 B 6 0 | 80 | 5 =
3 M3 x0.5 x150 P3 P 3 | 10 | 150 | 3 M3 x0.35x 80 PB P 6 | 10 | 80 | 4 M3 x0.35x100 B8 B 8 10 | 100 | 4 M4 x0.7 x 80 B7 B 7 0 | 80 | 5 =
e M3 x0.5 x150 P4 P 4 | 10 | 150 | 3 M3 x0.35x 80 P7 P 7 [ 10 | 80 | 4 M3 x0.35x100 B9 B 9 10 | 100 | 4 M4 x0.7 x 80 B8 B 8 0 | 80 | 5 e
=] M3 x0.5 x150 P5 P 5 | 10 | 150 | 3 M3 x0.5 x100 1C5 | 1C 5 | 10 | 100 | 4 M3 x0.35x100 3C4 | 3C | 4 0 | 100 | 4 M4 x0.7 x 80 PB P 6 0 | 80 | 5 S
M3 x0.5 x150 PG P 6 | 10 | 150 | 3 M3 x0.5 x100 1C6 | 1C 6 | 10 | 100 | 4 M3 x0.35x100 3C5 | 3C | 5 0 | 100 | 4 M4 x0.7 x 80 P7 P 7 0 | 80 | 5 _
| = M3 x0.5 X150 P7 P 7 [ 10 | 150 | 3 M3 x0.5 x100 1C7 | 1C 7 [ 10 | 100 | 4 M3 x0.35x100 3C6 | 3C | 6 0 | 100 | 4 M4 x0.7 x 80 P8 P 8 0 | 80 | 5 =1
T3> M3 x0.5 x150 P8 P 8 | 10 | 150 | 3 M3 x0.5 x100 B5 B 5 | 10 | 100 | 4 M3 x0.35x100 3C7 | aC | 7 0 | 100 | 4 M4 x0.7 x100 1C6 | 1C | 6 0 | 100 | 5 =T
I h M3 x0.5 x150 P9 P 9 | 10 | 150 | 3 M3 x0.5 x100 B6 B 6 | 10 | 100 | 4 M3 x0.35x100 3C8 | 3C | 8 10 | 100 | 4 M4 x0.7 x100 1C7 | 1C | 7 10 | 100 | 5 he
Tz M3 x0.5 x150 P10 | P | 10 | 10 | 180 | 3 M3 x0.5 x100 B7 B 7 | 10 | 100 | 4 M3 x0.35x100 3C9 | 3C | © 10 | 100 | 4 M4 x0.7 x100 1c8 | 1C | 8 10 | 100 | 5 a7
L M3 x0.35x150 1C2 | 1C 2 | 10 | 150 | 3 M3 x0.5 x100 P5 P 5 | 10 | 100 | 4 M3 x0.35x100 P4 P a 0 | 100 | 4 M4 x0.7 x100 B6 B 6 0 | 100 | 5 L
Y M3 x0.35x150 1C3 | 1C 3 | 10 | 150 | 3 M3 x0.5 x100 P6 P 6 | 10 | 100 | 4 M3 x0.35x100 P5 P 5 0 | 100 | 4 M4 x0.7 x100 B7 B 7 10 | 100 | 5 Y
II‘ M3 x0.35x150 1C4 | 1C 4 | 10 | 150 | 3 M3 x0.5 x100 P7 P 7 [ 10 | 100 | 4 M3 x0.35x100 PG P 6 0 | 100 | 4 M4 x0.7 x100 B8 B 8 10 | 100 | 5 ||‘
C M3 x0.35x150 1C5 | 1C 5 | 10 | 150 | 3 M3 x0.35x100 1C5 | 1C 5 | 10 | 100 | 4 M3 x0.35x100 P7 P 7 0 | 100 | 4 M4 x0.7 x100 PG P 6 0 | 100 | 5 C
M3 x0.35x150 1C6 | 1C 6 | 10 | 150 | 3 M3 x0.35x100 1C6 | 1C 6 | 10 | 100 | 4 M3 x0.35x100 P8 P 8 10 | 100 | 4 M4 x0.7 x100 P7 P 7 10 | 100 | 5
M3 x0.35x150 1C7 | 1C 7 [ 10 | 150 | 3 M3 x0.35x100 1C7 | 1C 7 [ 10 | 100 | 4 M3 x0.35x100 P9 P 9 0 | 100 | 4 M4 x0.7 x100 P8 P 8 10 | 100 | 5
M3 x0.35x150 1C8 | 1C 8 | 10 | 150 | 3 M3 x0.35x100 B5 B 5 | 10 | 100 | 4 M3 x0.5 x150 1C4 | 1C | 4 0 | 150 | 4 M4 x0.7 x150 1C6 | 1C | 6 0 | 150 | 5
M3 x0.35x150 1C9 | 1C o | 10 | 150 | 3 M3 x0.35x100 B6 B 6 | 10 | 100 | 4 M3 x0.5 x150 1C5 | 1C | 5 0 | 150 | 4 M4 x0.7 x150 1Cc7 | 1C | 7 0 | 150 | 5
M3 x0.35x150 1C10| 1C | 10 | 10 | 150 | 3 M3 x0.35x100 B7 B 7 [ 10 | 100 | 4 M3 x0.5 x150 1C6 | 1C | 6 0 | 150 | 4 M4 x0.7 x150 1c8 | 1C | 8 0 | 150 | 5
M3 x0.35x150 B2 B 2 | 10 | 150 | 3 M3 x0.35x100 P5 P 5 | 10 | 100 | 4 M3 x0.5 x150 1C7 | 1C | 7 0 | 150 | 4 M4 x0.7 x150 B6 B 6 0 | 150 | 5
M3 x0.35x150 B3 B 3 | 10 | 150 | 3 M3 x0.35x100 PB P 6 | 10 | 100 | 4 M3 x0.5 x150 1C8 | 1C | 8 10 | 150 | 4 M4 x0.7 x150 B7 B 7 0 | 150 | 5
M3 x0.35x150 B4 B 4 | 10 | 150 | 3 M3 x0.35x100 P7 P 7 [ 10 | 100 | 4 M3 x0.5 x150 1C9 | 1C | © 0 | 150 | 4 M4 x0.7 x150 B8 B 8 0 | 150 | 5
M3 x0.35x150 B5 B 5 | 10 | 150 | 3 M3 x0.5 x150 1C5 | 1C 5 | 10 | 150 | 4 M3 x0.5 x150 B4 B a 0 | 150 | 4 M4 x0.7 x150 PG P 6 0 | 150 | 5
M3 x0.35x150 B6 B 6 | 10 | 150 | 3 M3 x0.5 x150 1C6 | 1C 6 | 10 | 150 | 4 M3 x0.5 x150 B5 B 5 0 | 150 | 4 M4 x0.7 x150 P7 P 7 0 | 150 | 5
M3 x0.35x150 B7 B 7 [ 10 | 150 | 3 M3 x0.5 x150 1C7 | 1C 7 [ 10 | 150 | 4 M3 x0.5 x150 B6 B 6 0 | 150 | 4 M4 x0.7 x150 P8 P 8 0 | 150 | 5
M3 x0.35x150 B8 B 8 | 10 | 150 | 3 M3 x0.5 x150 B5 B 5 | 10 | 150 | 4 M3 x0.5 x150 B7 B 7 0 | 150 | 4 M5 x0.8 x100 1C6 | 1C | 6 10 | 100 | 55
M3 x0.35x150 B9 B 9 | 10 | 150 | 3 M3 x0.5 x150 B6 B 6 | 10 | 150 | 4 M3 x0.5 x150 B8 B 8 0 | 150 | 4 M5 x0.8 x100 1C7 | 1C | 7 10 | 100 | 55
M3 x0.35x150 B10 | B | 10 | 10 | 150 | 3 M3 x0.5 x150 B7 B 7 | 10 | 150 | 4 M3 x0.5 x150 B9 B 9 0 | 150 | 4 M5 x0.8 x100 1C8 | 1C | 8 0 | 100 | 55
M3 x0.35x150 3C2 | 3C 2 | 10 | 150 | 3 M3 x0.5 x150 P5 P 5 | 10 | 150 | 4 M3 x0.5 x150 3C4 | aC | 4 0 | 150 | 4 M5 x0.8 x100 B6 B 6 0 | 100 | 55
M3 x0.35x150 3C3 | 3C 3 | 10 | 150 | 3 M3 x0.5 x150 P6 P 6 | 10 | 150 | 4 M3 x0.5 x150 3C5 | 3C | 5 0 | 150 | 4 M5 x0.8 x100 B7 B 7 10 | 100 | 55
M3 x0.35x150 3C4 | 3C 4 | 10 | 150 | 3 M3 x0.5 x150 P7 P 7 [ 10 | 150 | 4 M3 x0.5 x150 3C6 | 3C | 6 0 | 150 | 4 M5 x0.8 x100 B8 B 8 0 | 100 | 55
M3 x0.35x150 3C5 | 3C 5 | 10 | 150 | 3 M3 x0.35x150 1C5 | 1C 5 | 10 | 150 | 4 M3 x0.5 x150 3C7 | aC | 7 0 | 150 | 4 M5 x0.8 x100 P6 P 6 10 | 100 | 55
M3 x0.35x150 3C6 | 3C 6 | 10 | 150 | 3 M3 x0.35x150 1C6 | 1C 6 | 10 | 150 | 4 M3 x0.5 x150 3C8 | 3C | 8 0 | 150 | 4 M5 x0.8 x100 P7 P 7 10 | 100 | 55
M3 x0.35x150 3C7 | 3C 7 [ 10 | 150 | 3 M3 x0.35x150 1C7 | 1C 7 | 10 | 150 | 4 M3 x0.5 x150 3C9 | 3C | © 0 | 150 | 4 M5 x0.8 x100 P8 P 8 0 | 100 | 55
M3 x0.35x150 3C8 | 3C 8 | 10 | 150 | 3 M3 x0.35x150 B5 B 5 | 10 | 150 | 4 M3 x0.5 x150 P4 P a 0 | 150 | 4 M5 x0.8 x150 1C6 | 1C | 6 0 | 150 | 55
M3 x0.35x150 3C9 | 3C 9 | 10 | 150 | 3 M3 x0.35x150 B6 6 | 10 | 150 | 4 M3 x0.5 x150 P5 P 5 0 | 150 | 4 M5 x0.8 x150 1C7 | 1C | 7 0 | 150 | 55
M3 x0.35x150 3c10| 3C | 10 | 10 | 150 | 3 M3 x0.35x150 B7 B 7 [ 10 | 150 | 4 M3 x0.5 x150 P6 P 6 0 | 150 | 4 M5 x0.8 x150 1C8 | 1C | 8 0 | 150 | 55
M3 x0.35x150 P2 P 2 | 10 | 150 | 3 M3 x0.35x150 P5 P 5 | 10 | 150 | 4 M3 x0.5 x150 P7 P 7 0 | 150 | 4 M5 x0.8 x150 BB B 6 10 | 150 | 55
M3 x0.35x150 P3 P 3 | 10 | 150 | 3 M3 x0.35x150 PB P 6 | 10 | 150 | 4 M3 x0.5 x150 P8 P 8 0 | 150 | 4 M5 x0.8 x150 B7 B 7 10 | 150 | 55
M3 x0.35x150 P4 P 2 | 10 | 150 | 3 M3 x0.35x150 P7 P 7 | 10 | 150 | 4 M3 x0.5 x150 P9 P 9 0 | 150 | 4 M5 x0.8 x150 B8 B 8 0 | 150 | 55
M3 x0.35x150 P5 P 5 | 10 | 150 | 3 M3 x0.35x150 1C4 | 1C | 4 0 | 150 | 4 M5 x0.8 x150 PG P 6 0 | 150 | 55
M3 x0.35x150 PG P 6 | 10 | 150 | 3 M3 x0.35x150 1C5 | 1C | 5 0 | 150 | 4 M5 x0.8 x150 P7 P 7 0 | 150 | 55
M3 x0.35x150 P7 P 7 [ 10 | 150 | 3 M3 x0.35x150 1C6 | 1C | 6 0 | 150 | 4 M5 x0.8 x150 P8 P 8 0 | 150 | 55
M3 x0.35x150 P8 P 8 | 10 | 150 | 3 M3 x0.35x150 1C7 | 1C | 7 0 | 150 | 4 M6 x1 x100 1Cc7 | 1C | 7 10 | 100 | 6
M3 x0.35x150 P9 P 9 | 10 | 150 | 3 M3 x0.35x150 1C8 | 1C | 8 0 | 150 | 4 M6 x1 x100 1c8 | 1C | 8 0 | 100 | 6
M3 x0.35x150 P10 | P | 10 | 10 | 150 | 3 M3 x0.35x150 1C9 | 1C | © 0 | 150 | 4 M6 x1 x100 1C9 | 1C | © 0 | 100 | 6




ITYLYh-C i1 TAFLET-C

ME:HSSE REUIE:C

Tap material Surface treatment

7Ly hOBEES OBMERMIE

o At
IT-TF-C OYY BEL -
;E% m& E]ge
" 1C 1 gjz
B 2u.| (um) 64
3Cc 3l :;
- _ P | 4abh 2
%% Eﬁﬁ?ﬂg
;lj' HY  EvF 2R BIRE| BfY 1EE BSESS 2R R HU  EvF 2R BHIRE| BfY BE BSESS 2R R
36 M6 x1 x100 B7 B 7 10 100 | 6 M10 x1.5 X100 B7 B 7 19 100 7
>7 M6 x1 x100 BS B 8 10 100 | 6 M10 x1.5 x100 BS B 8 19 100 7
8,\ M6 x1 x100 B9 B 9 10 100 | 6 M10 x1.5 x100 B9 B 9 19 100 7
qg M6 x1 x100 P7 P 7 10 100 | 6 M10 x1.5 X100 P7 P 7 19 100 7
> D M6 x1 x100 PS8 P 8 10 100 | 6 M10 x1.5 x100 P8 P 8 19 100 7
= M6 x1 X100 P9 P 9 10 100 | 6 M10 x1.5 x100 P9 P 9 19 100 7
gl‘, M8 x1 x150 1C7 1C 7 10 150 | 6 M10 x1.5 x150 1C7 1C 7 19 150 7
M6 x1 x150 1C8 1C 8 10 150 | 6 M10 x1.5 x150 1C8 1C 8 19 150 7
3@ M6 x1 x150 1C9 1C 9 10 150 | 6 M10 x1.5 x150 1C9 1C 9 19 150 7
§Fﬁ M6 x1 x150 B7 B 7 10 150 | 6 M10 x1.5 x150 B7 B 7 19 150 7
m M6 x1 x150 BS B 8 10 150 | 6 M10 x1.5 x150 B8 8 19 150 7
EE M6 x1 x150 B9 B 9 10 150 | 6 M10 x1.5 x150 B9 B 9 19 150 7
%T:E M8 x1 x150 P7 P 7 10 150 | 6 M10 x1.5 x150 P7 P 7 19 150 7
BE M6 x1 x150 P8 P 8 10 150 | 6 M10 x1.5 x150 P8 P 8 19 150 7
%ﬁ M6 x1 x150 P9 P 9 10 150 | 6 M10 x1.5 x150 P9 P 9 19 150 7
2 M8 x1.25x100 1C7 iic 7 18 100 | 6.2 M10 x1.25x100 1C7 c 7 19 100 7
=3 M8 x1.25x100 1C8 1C 8 18 100 | 6.2 M10 x1.25x100 1C8 10 8 19 100 7
g M8 x1.25x100 1C9 15 9 18 100 | 6.2 M10 x1.25xX100 1C9 1 9 19 100 7
=] M8 x1.25x100 B7 B 7 18 100 | 6.2 M10 x1.25x100 B7 B 7 19 100 7
_ M8 x1.25x100 B8 B 8 18 100 | 6.2 M10 x1.25x100 B8 B 8 19 100 7
[ j M8 x1.25x100 B9 B 9 18 100 | 6.2 M10 x1.25x100 B9 B 9 19 100 7
T; M8 x1.25x100 P7 P 7 18 100 | 6.2 M10 x1.25x100 P7 P 7 19 100 7
I M8 x1.25x100 P8 P 8 18 100 | 6.2 M10 x1.25x100 P8 P 8 19 100 7
770' M8 x1.25x100 P9 P 9 18 100 | 6.2 M10 x1.25x100 P9 P 9 19 100 7
L M8 x1.25x150 1C7 1C 7 18 150 | 6.2 M10 x1.25x150 1C7 1C 7 19 150 7
b4 M8 x1.25x150 1C8 1C 8 18 150 | 6.2 M10 x1.25x150 1C8 1C 8 19 150 7
||‘ M8 x1.25x150 1C9 1C 9 18 150 | 6.2 M10 x1.25x150 1C9 1C 9 19 150 7
C M8 x1.25x150 B7 B 7 18 150 | 6.2 M10 x1.25x150 B7 B 7 19 150 7
M8 x1.25x150 B8 B 8 18 150 | 6.2 M10 x1.25x150 B8 B 8 19 150 7
M8 x1.25x150 B9 B 9 18 150 | 6.2 M10 x1.25x150 B9 B 9 19 150 7
M8 x1.25x150 P7 P 7 18 150 | 6.2 M10 x1.25x150 P7 P 7 19 150 7
M8 x1.25x150 P8 P 8 18 150 | 6.2 M10 x1.25x150 P8 p 8 19 150 7
M8 x1.25x150 P9 P 9 18 150 | 6.2 M10 x1.25x150 P9 P 9 19 150 7
M10 x1.5 x100 1C7 ilc 7 19 100 | 7
M10 x1.5 x100 1C8 10 8 19 100 | 7
M10 x1.5 x100 1C9 1C 9 19 100 | 7




	1
	2

